Skénes BF
Allemanstraffens 54:e final 2017-04-02

Partavling, 53 bord, 106 par. Antal brickor: 48. Medel: 2496.2.

Plac Par
1 279
2 16
3 168
4 217
5 265
6 103
7 209
8 215
9 278
10 13
11 212
12 65
13 270
14 219
15 76
16 273
17 174
18 17
19 3
20 14
21 72
22 175
23 271
24 171
25 277
26 164
27 114
28 73
29 208
30 178
31 75
32 64
33 106
34 111
35 66
36 102
37 267
38 180
39 264
40 176
41 201
42 179
43 15
44 206
45 67
46 68
a7 1
48 262
49 214
50 115
51 74
52 9
53 104
54 105
55 10
56 112
57 275
58 207
59 272
60 70
61 8
62 5
63 109
64 80
65 266
66 263
67 2
68 78
69 113
70 79
71 218
72 166
73 165
74 117
75 211
76 269
77 108
78 202
79 110
80 167
81 204
82 6
83 210
84 7
85 177

Poang

3245.2
3042.0
2917.8
2904.1
2890.5
2889.6
2885.9
2876.9
2876.0
2839.7
2828.6
2813.8
2792.8
2787.5
2785.2
2762.2
2756.5
2750.6
2748.3
2737.1
2733.3
2721.7
2712.2
2701.8
2700.5
2698.1
2688.7
2667.3
2666.7
2657.4
2654.6
2650.9
2645.1
2644.3
2637.9
2631.0
2613.8
2608.1
2598.0
2595.9
2583.3
2545.1
2542.2
2539.1
2533.8
2532.6
2530.6
2511.6
2503.1
2502.0
2484.4
2479.4
2479.2
2469.7
2467.2
2463.1
2458.0
2456.5
2446.6
2441.9
2436.4
2433.8
2429.2
2420.5
2416.8
2396.3
2396.2
2393.7
2385.7
2379.6
2373.8
2370.7
2370.1
2368.8
2368.2
2365.6
2355.6
2329.2
2327.7
2322.3
2320.0
2313.8
2313.1
2312.6
2311.4

%

65.01
60.94
58.45
58.18
57.90
57.88
57.81
57.63
57.61
56.89
56.66
56.37
55.95
55.84
55.79
55.33
55.22
55.10
55.05
54.83
54.75
54.52
54.33
54.12
54.10
54.05
53.86
53.43
53.42
53.23
53.18
53.10
52.99
52.97
52.84
52.70
52.36
52.25
52.04
52.00
51.75
50.98
50.93
50.86
50.76
50.73
50.69
50.31
50.14
50.12
49.77
49.67
49.66
49.47
49.42
49.34
49.24
49.21
49.01
48.92
48.81
48.75
48.66
48.49
48.41
48.00
48.00
47.95
47.79
47.67
47.55
47.49
47.48
47.45
47.44
47.39
47.19
46.66
46.63
46.52
46.47
46.35
46.34
46.33
46.30

Namn

Nils-Erik Ekholm - Ingemar Henrysson
Ted Boklin - Mattias Wallin

Tomas Lindgvist - Katrina Redell
Bonnie Clementsson - Stefan Eriksson
Richard Korse - Lena Jonsson

Sanna Clementsson - Mikael Rimstedt
Anders Ingels - Anders Freij

Mevludin Hadziavdic - Borje Vestesson
Ebba Ericsson - Ulla Regnér

Christer Zetterlund - Lena Zetterlund
Anders Olsson - Sten Ahlgren

Eva Nilsson - Kjell-Ake Nilsson
Boguslaw Wlodarczyk - Nicolae Ostner
Ola Svensson - Inga-Maj Askfelt
Kerstin Heander - Lena Gronqvist

Leif Ahlberg - Bo Holmquvist

Thomas Davy - Stig Unoson

Jan Gutenwik - Pierre Carbonnier

Ake Persson - Rickard Montgomery
Elsa Rybéck - Kristina Borglid

Bengt Sahlstréom - Bjorn Erickson

Ulrik Svensson - Agneta Svensson
Svante Dahl - Lindgren Carl-Johan
Magnus Wegestal - Johan Andersson
Héakan Stenfot - Carin Ohlson

Jens Priess - Lars-Gunnar Ludvigsson
Louise Kennedy - Britt M&nsson
Sig-Britt Dahlquist - Borje Olsson
Cornelia Tiller - Per Stening

Ritva Myrhagen - Vibeke Nilsson
Bengt Nilsson - Bo Nilsson

Monica Wester - Ulla Borgstrom

Don Lindsay - Kristin Engh

Tor-Bjorn Bohman - Ann Sundgren
Gertrud Lindahl - Eva Andersson
Anita Brundin - Per Hellborg

Leif Larsson - Bengt Johansson

Ulla Linse - lldiko Lang

Sonja Nilsson - Marianne Moller
Christina Carlander - Nancy Westerdahl
Goran Stigsson - Sanna Stigsson
Anders Rosendahl - Maria Rosendahl
Bengt Nilsson - Peter Gati

Johan Erlandsson - Alf Roos

Jan-Inge Gustafsson - Karin Sandeberg
Tord Persson - Jorgen Nilsson
Madelaine Gertsson - Simon Nilsson
Arne Dahlberg - Kjell-Erik Nordgren
Anders Nordberg - Gunilla Rasmusson
Bengt Ungesson - Bo Martensson

Stig Nilsson - Leif Persson

Hakan Myrhagen - Peter Moricz

Anita Narfeldt - Per-Ingemar Nilsson
Sonja Eriksson - Eva Ekholm

Calle Lilliegren - Shaun Jacobsen
Bengt-Olof Westmar - Nils Térnblom
Birgitta Kjellin - Torsten Kjellin

Erik Hilphers - Ingrid Lange
Britt-Louise Ljungdahl - Margot Olsson
Maud Ihd - Sally Winther

Soéren Halvarsson - Ingemar Séderberg
UIf Andersson - Gull-Lis Andersson
Per Masback - Jonas Ohrn

Tommy Hagelin - Sune Andersson
Ove Jarnstrom - Christian Séderlund
Gabriella J6nsson - Monica Jonsson
John Svensson - Alve Wendt

Borje Ivarsson - Allan Henriksson
Nina Nilsson - Judit Derzsi-Jalgard
Leif Stille - Ake Loftén

Ulla-Brita Borgquist - Kjell Bengtsson
Knut Nilsson - Hans Tambour

Monica Gilhorn - Mona Berge

Mats Martensson - Charlotte Rudback
Dagmar Svensson - Gunne Malmstrém
Viveca Dettmark - Margareta Svalner
Maj-Christin Friberg - Barbro Linde
Lars Bigge - Marie-Louise Bigge

Dan Gustavsson - Annette Karlsson

Kristina Degerman - Anita Hallberg Hawerdahl

Hans-Olof Boman - Kerstin Levin
Christer Holst - Magnus Ohlsson
Ann-Charlotte Gauffin - Laila Rydje
Lars Wahigren - Per Flodberg

Berth Rasmusson - Birgitta Kiotseridis

MID

5455
80306
11362
55628
15157
55629
88890
78242
25998
59660

7280

6428
20855
21351
37450
14010
60200

6302
36143
87094
53453

4587
61839
91149
41921
35470
54939
83220
39050
24760
22006
87540
47390

8467

6091
26365
20775
27725
94186
30382
20772
28550

5797
17710
21557
46784
59586

406
56171
49958
11207

411
41587
53119
86932
80254
88094
48214
47300
30191
78493
13590
21830

6297
30217
61056
57265

5884
52391
90936
40759
14021
82790
37097
54884
59330
85262
61778
24619
48673

6430
48988
17915
55822

5791

21350
51010
43216
18587
17205
88184
5548
14816
25999
59661
12399
6427
4465
15376
37021
1151
83337
5538
36005
43548
60673
4586
43201
40197
43451
21719
55012
11421
38665
28173
92555
83661
48322
39331
37990
60305
83944
28328
20829
5483
20773
35240
11054
92856
60954
35231
85753
6560
56176
80073
93429
25801
5632
16236
49498
44746
91559
45023
47299
93003
87321
4530
20408
18112
38195
57317
17282
88770
52692
836
30548
24753
80499
37098
52669
60021
38006
6487
26680
60924
3500
89166
3430
19989
22803

Klubb

Munka Ljungby BS

Bjarreds BK

Malmé BK

Malmé BK

Malmé BK

Malmé BK - Harplinge BK

LUCK

Kristianstads BK - Sdlvesborgs BK
Malmé BK

Angelholms BS

BK Lavec

Ystads BS

Lunds BK - Malmé BK

Munka Ljungby BS

BK Tre Sang, Helsingborg
Bjarreds BK - BK Axet

BK Bridgehuset

Malmé BK - LUCK

Ystads BS

Sddra Sandby BK

Malmé BK

Bjarreds BK

BK Bridgehuset

Malmé BK

Bridgeklubben 2 Kléver

Munka Ljungby BS

Kristianstads BK

Svedala BK

Pri-Bri 1936

BK Sekvens, S-torp - Staffanstorps BK
BK ESS-I6v

Pri-Bri 1936

Kullabygdens BK

Angelholms BS - Munka Ljungby BS
BK Tre Sang, Helsingborg

BK Fenix

BK Tre Sang, Helsingborg
Malmé BK

Kristianstads BK - Ahus BK
Angelholms BS

Bjarreds BK

BK ESS-lov - BK Tre Sang, Helsingborg
Malmé BK

Lunds BK

BK Tre Sang, Helsingborg
Lomma BK

Héassleholms BK

BK Sekvens, S-torp - Staffanstorps BK
BK Bridgehuset

BK ESS-Iov

BK Tre Sang, Helsingborg

BK Sekvens, S-torp - BK Bridgehuset
Lomma BK - BK Tre Sang, Helsingborg
Angelholms BS

BK Tre Sang, Helsingborg
Karlshamns BK

BK Zonen

BK Fenix

Malmé BK

Bridgeklubben 2 Kléver

BK Zonen

BK Bridgehuset

Sodra Sandby BK

Kristianstads BK - Nasby IF:s BS
Bridgeklubben 2 Kléver - Falsterbo BK
Malmé BK - Sjébo BK

Lunds BK

Klippans BK

BK Bridgehuset

Kullabygdens BK

Ystads BS

Bjarreds BK

BK Zonen - Malmé BK

Lunds BK

Angelholms BS

Kristianstads BK

BK Tre Sang, Helsingborg

Pri-Bri 1936 - Svedala BK

BK Zonen

Svedala BK

Ostra Torps BS

Kristianstads BK

BK Zonen - Héllvikens BK

Lunds BK - LUCK

Malmé BK
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86 203 2288.5 45.84 Ulla Oberg - Gunlis Aberg 45490 33694 BK Bridgehuset - Malmo BK
87 169 2278.0 45.63 Lars-Einar Larsson - Anita Larsson 5568 14422 BK Tre Sang, Helsingborg
88 116 2276.3 45.60 Anders Karlsson - Orjan Odén 78684 28909 Ystads BS
89 101 2261.5 45.30 Christel Eklund - Staffan Lindberg 21519 82137 BK Tre Sang, Helsingborg
90 71 2253.6 45.14 Margareta Linnér - Maj-Britt Nilsson 54885 59864 Angelholms BS
91 216 2243.4 44.94 Bengt Karlstrém - Johnny Pettersson 81009 11666 Pri-Bri 1936 - Malmé BK
92 107 22332 44.74 Ake Lindstrém - Karsten Willén 25135 6218  Pri-Bri 1936
93 12 2204.3 44.16 Mats Andersson - Claudia Sjoberg 29670 55585 Pri-Bri 1936 - Lunds BK
94 172 21775 43.62 Ingrid Nilsson - Bengt-Gunnar Nilsson 4597 4682 Sodra Sandby BK
95 213 2173.6 43.54 Allan Jakobsson - Ingrid Priemer 55042 54942 Kristianstads BK
96 274 2166.8 43.41 Ake Bergh - Mona Hallstrém 19320 92066 BK Tre Sang, Helsingborg
97 280 2150.0 43.07 Ingrid Olsson - Rune Gustafsson 5895 5902 Klippans BK
98 69 2140.0 42.87 Annette Wald Gardenfors - Susanne Levin 55160 53421 BK Bridgehuset
99 276 2093.6 41.94 Mats Olofsson - Ingemar Thorén 60692 59659 Angelholms BS
100 170 2089.3 41.85 Kjell Hansson - Jolanta Lundh 58946 48086 BK Tre Sang, Helsingborg
101 4 2073.2 4153 Karin Andrée - Agneta Dunemark 84991 84993 Pri-Bri 1936
102 268 2063.0 41.33 Ulla Johnsson - Ronny Johnsson 30759 35590 Hollvikens BK
103 205 2051.9 41.10 Lennart Holmquist - Ing-Britt Holmquist 14650 14651 BK Zonen
104 11 2032.8 40.72 Ted Jablonowski - Barbara Jablonowska 56721 56233 Lomma BK
105 173 1986.7 39.80 Jan-Erik Ohlsson - Gun-Lis Ohlsson 2756 4532 BK Bridgehuset
106 77 1821.3 36.48 Andreas Johansson - Jan-Inge Tuvesson 24913 33922 Munka Ljungby BS
1 4763 Bésta kontrakt 2 & Kn9g Bésta kontrakt 3 & Kn95 Bésta kontrakt
Nord v EKKn972 4v ND-1-100 Ost v7 7v O =-1510 Syd v K1076 7v S D -8-2000
Ingen +82 NS + Kn987642 ov + DKn985
»K5 & ¢ v & NT *62 ¢V NT *K & ¢ v & NT
4 E82 « DKn954 N369 414 43 « EK64 N 30 1 & K7 « E10432 NO4511
v53 v 86 S369 44 vEK1083 v D94 S 30 1 v E842 v- S04511
¢ Kn1093 ¢ D4 097395 ¢ KD5 ¢+ E103 O 1210131012 ¢7 ¢ EK32 O 138 8 1211
#DKn43 #E986 V97395 #E953 &DKn7 V 1110129 12 #EDKNn764 #9832 VvV 138 8 1211
4 K10 4 D10752 » D86
vD104 v Kn652 v DKn953
+ EK765 .- + 1064
#1072 +K1084 #105
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
212 271 4vy N+1 &4 450 104.0 0.0|113 172 6vDO-1 45 100 102.0 2.0|115 166 3NO-1 vQ 100 100.0 4.0
3 78 4y N= «Q 420 78.0 26.0|166 165 6vDV-1 #6 100 102.0 2.0|169 112 3NO-1 v6 100 100.0 4.0
4 77 4vy N= a4 420 78.0 26.0(204 279 7vDO-1 45 100 102.0 2.0|179 102 3NO-1 ¥9 100 100.0 4.0
11 70 4y N= «Q 420 780 26.0| 68 13 6v V-1 +¢38 50 88.0 16.0|211 274 3NO-1 +3 100 100.0 4.0
15 66 4vy N= &A 420 780 260 73 8 6v O-1 &7 50 88.0 16.0|217 268 3NV - v7 100 100.0 4.0
68 13 4v N= 4Q 420 78.0 26.0(106 179 6v O-1 42 50 880 16.0| 77 6 24 0= v7 -110 94.0 10.0
74 7 4y N= ¢Q 420 78.0 26.0(171 114 6v O-1 2 50 88.0 16.0 1 3 3&V+3 v7 -170 87.0 17.0
75 6 4v N= 4Q 420 78.0 26.0(175 110 6v O-1 T 50 88.0 16.0| 65 64 44V +2 +¢5 -170  87.0 17.0
79 2 4vy N= 4Q 420 78.0 26.0(180 103 6v O-1 &7 50 88.0 16.0|111 170 34V +3 48 -170 87.0 17.0
105 101 4v N= 4Q 420 78.0 26.0(205 278 6v O-1 42 50 88.0 16.0|174 107 4« V+2 ¢Q -170 87.0 17.0
106 179 4v N= «Q 420 78.0 26.0|212 271 6v V-1 46 50 88.0 16.0 (213 272 34V +3 45 -170  87.0 17.0
111 174 4v N= 4Q 420 78.0 26.0|274 209 7v V- +9 50 88.0 16.0|275 210 3#V+3 45 -170 87.0 17.0
166 165 4v N= 45 420 78.0 26.0(275 208 6NO-1 42 50 88.0 16.0| 12 71 2NO+2 T -180 80.0 24.0
173 112 4v N= «Q 420 78.0 26.0(280 202 6v O-1 45 50 88.0 16.0 (167 114 34V +4 w7 -190 76.0 28.0
175 110 4v N= 4Q 420 780 26.0| 71 10 2NO+5 42 -270 76.0 28.0|173 108 34V +4 ¢Q -190 76.0 28.0
176 109 4v N= 4Q 420 78.0 26.0(266 217 2¢ S-4 +K -400 74.0 30.0(280 203 3#V+4 ¢Q -190 76.0 28.0
177 108 4v N= «4 420 78.0 26.0(177 108 4v V+1 7 -450 72.0 32.0(164 117 3NO= vQ -600 70.0 34.0
178 107 4v N= 4Q 420 780 26.0| 76 5 3NO+2 &5 -460 69.0 35.0(165 116 3NO= ¥v5 -600 70.0 34.0
201 203 4v N= +Q 420 78.0 26.0(178 107 3NO+2 42 -460 69.0 35.0 (271 214 5& V= +8 -600 70.0 34.0
216 267 4v N= «4Q 420 78.0 26.0(102 104 4v O+2 &7 -480 66.0 380| 10 73 54V+1 ¢Q -620 50.0 54.0
264 219 4v N= &4 420 780 26.0] 3 78 3NO+3 &8 -490 60.0 44.0| 16 67 5« V+1l w7 -620 50.0 54.0
265 218 4y N= «4Q 420 780 26.0| 65 16 3NO+3 5 -490 60.0 440 69 14 54V+1 ¢Q -620 50.0 54.0
270 213 4y N= +Q 420 780 26.0) 80 1 3NO+3 a7 -490 60.0 440| 75 8 54V+1l w7 -620 50.0 54.0
272 211 4v N= «4Q 420 78.0 26.0(176 109 3NO+3 42 490 60.0 440| 76 7 5#V+1 45 -620 50.0 54.0
275 208 4v N= #A 420 78.0 26.0(270 213 3NO+3 42 -490 60.0 440( 80 2 54V+1 ¢Q -620 50.0 54.0
280 202 4v N= 44 420 78.0 26.0(272 211 4v O+3 42 -510 54.0 50.0(109 172 5& V+1 49 -620 50.0 54.0
277 206 44DO-2 ¢A 300 52.0 52.0|269 214 3NO+4 &7 -520 52.0 52.0(168 113 5# V+1 &5 -620 50.0 54.0
67 14 3y N+1 +Q 170 47.0 57.0| 15 66 6y O= &7 -980 42.0 62.0(171 110 5#V+1 ¢Q -620 50.0 54.0
73 8 3vyN+1 #A 170 470 57.0| 64 17 6vy V= %6 -980 42.0 62.0(180 101 54 V+1 w7 -620 50.0 54.0
76 5 3y N+1 &5 170 470 570 69 12 6v V= +8 -980 42.0 62.0(264 263 54V+1 ¢Q -620 50.0 54.0
269 214 29y N+2 «Q 170 470 57.0| 75 6 6y O= 42 -980 42.0 62.0(265 262 5#V+1 ¢Q -620 50.0 54.0
64 17 3v N= «4Q 140 40.0 64.0|105 101 6y O= #4 -980 42.0 62.0(269 216 54V +1 +8 -620 50.0 54.0
113 172 3v N= 4Q 140 40.0 64.0|117 168 6y O= ¢33 -980 42.0 62.0|270 215 54V +1 ¢J -620 50.0 54.0
170 115 3v N= «Q 140 40.0 64.0|173 112 6vy O= 45 -980 42.0 62.0(273 212 54V+1 ¢Q -620 50.0 54.0
65 16 44DO-1 ¢A 100 36.0 68.0210 273 6y O= 48 -980 42.0 62.0(277 208 5# V+1 49 -620 50.0 54.0
167 164 34 O-1 +A 50 33.0 71.0|277 206 6y O= &T -980 42.0 62.0(278 207 5#V+1 ¢Q -620 50.0 54.0
268 215 44 O-1 A 50 330 710| 9 72 6NO= v6 990 25.0 79.0| 4 79 3NV+1 ¢5 -630 28.0 76.0
102 104 Pass 300 74.0| 11 70 6NO= %4 -990 25.0 79.0( 70 13 3NV+l ¢Q -630 28.0 76.0
9 72 4vy N-1 4Q -50 17.0 87.0| 67 14 6NO= &4 990 25.0 790 74 9 3NO+1 ¢Q -630 280 76.0
69 12 4v N-1 «Q -50 170 87.0| 74 7 BNO= 42 -990 25.0 79.0(103 178 3NV+1 ¢Q -630 28.0 76.0
71 10 4v N-1 «Q -50 17.0 87.0|111 174 6NO=  ¥5 -990 25.0 79.0(176 105 3NV +1 49 -630 28.0 76.0
80 1 4v N-1 «Q -50 17.0 87.0|201 203 6NO= 45 -990 25.0 79.0| 5 78 54V+2 v6 -640 20.0 84.0
117 168 4v N-1 8 -50 17.0 87.0|216 267 6NO= &7 -990 25.0 79.0 (104 177 54V +2 K -640 20.0 84.0
169 116 4v N-1 «Q -50 17.0 87.0|264 219 6NO= 45 -990 25.0 79.0(267 218 5#V+2 ¢Q -640 20.0 84.0
171 114 4v N-1 «Q -50 17.0 87.0|167 164 6v O+1 #4 -1010 15.0 89.0|206 279 44 O+1 &T -650 16.0 88.0
204 279 4v N-1 4Q -50 17.0 87.0|169 116 6v O+1 #4 -1010 150 89.0| 72 11 3NO+2 3 -660 12.0 92.0
205 278 4y N-1 4Q -50 17.0 87.0| 4 77 6NO+1 4 -1020 6.0 98.0(202 204 3NV +2 45 -660 12.0 92.0
266 217 4v N-1 v6 50 17.0 87.0| 79 2 6NV+1 42 -1020 6.0 98.0(205 201 3NV +2 ¢5 -660 12.0 92.0
274 209 4y N-1 +8 -50 17.0 87.0|170 115 6NO+1 &4 -1020 6.0 98.0(175 106 3NO+3 T -690 8.0 96.0
276 207 4v N-1 4Q -50 17.0 87.0|263 262 6NO+1 v5 -1020 6.0 98.0(276 209 3NO+4 &T -720 6.0 98.0
180 103 4v N-2 +Q  -100 4.0 100.0 |265 218 6NO+1 45 -1020 6.0 98.0(266 219 6& V= v7 -1370 4.0 100.0
263 262 24 O+1 +¢K -140 2.0 102.0 (268 215 6NO+1 45 -1020 6.0 98.0| 66 17 64V+1 ¢Q -1390 1.0 103.0
210 273 44 O+1 ¢K -450 0.0 104.0 (276 207 6NO+1 &8 -1020 6.0 980| 68 15 64V+1 ¢J -1390 1.0 103.0
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4 4 K74 Basta kontrakt 5 & KKn2 Basta kontrakt 6 4 DKn3 Basta kontrakt
Vast v 109864 2v N =110 Nord vE9 44 V D -1 100 Ost vE762 54 S =450
Alla + 106 NS ¢ D432 ov + KKn85
#KDKn & ¢ v & NT #ED96 & ¢ v & NT &K5 & ¢ v & NT
49652 4 EKn10 N6 7877 41073 « ED865 N 5 106 4 9 «E84 96 N 9 116 119
vKn75 ¢D3 S6 7867 v 876 v KD5 S596 48 vDKn3 ¢K109854 S 9 116 119
+D4 ¢ E9832 O765675 +9 ¢ EKn8 08 358 4 ¢+ D76 ¢ 103 0427 2 4
#10653 #E74 V76565 #KKn10752 #83 V8 3694 &#E1098 #732 V42724
4 D83 494 & K10752
v EK2 v Kn10432 v-
+ KKn75 + K10765 ¢ E942
#982 *4 #DKn64
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
103 178 INO-3 vA 300 104.0 0.0|265 216 3NDO-4 +6 800 1040 0.0 2 4 44 S+1 &9 450 86.0 18.0
12 71 INO-2 vA 200 95.0 9.0|165 164 3NN = &8 600 101.0 3.0 5 1 44 S+1 v3 450 86.0 18.0
65 64 INO-2 vA 200 95.0 9.0|215 266 3NN= &8 600 101.0 3.0 6 79 44 S+1 &#A 450 86.0 18.0
80 2 INO-2 vA 200 950 90| 76 9 3NO-4 +6 200 97.0 7.0| 17 68 44 S+1 &4 450 86.0 18.0
111 170 1¢ O-2 vK 200 95.0 9.0|110 173 3NO-4 ++6 200 97.0 7.0| 66 65 44 S+1 vQ 450 86.0 18.0
115 166 INO-2 vA 200 95.0 9.0|209 272 2v N+2 &5 170 940 10.0| 73 12 44 S+1 &A 450 86.0 18.0
264 263 INO-2 5 200 95.0 9.0(176 107 2v N+1 #8 140 920 120| 78 7 44 S+1 vA 450 86.0 18.0
265 262 INO-2 vA 200 95.0 9.0|276 205 2NN = 5 120 90.0 14.0|104 179 44 N+1 5 450 86.0 18.0
270 215 INO-2 K 200 950 9.0 17 68 3¢ S= T 110 86.0 18.0|112 171 44 S+1 &A 450 86.0 18.0
16 67 3v N= ¢A 140 740 30.0( 70 15 2¢v N= &8 110 86.0 18.0 (116 167 44 S+1 &#A 450 86.0 18.0
70 13 2vy N+1 &4 140 74.0 30.0(279 202 2¢ S+1 #2 110 86.0 18.0(168 115 44 S+1 vQ 450 86.0 18.0
72 11 2v N+1 9 140 740 30.0| 13 72 34 O0-2 &6 100 78.0 26.0(172 111 4e S+1 &A 450 86.0 18.0
104 177 2v N+1 3 140 740 30.0| 75 10 34D O-1 #4 100 78.0 26.0|176 107 44 S+1 vQ 450 86.0 18.0
168 113 2¢v N+1 ¢A 140 74.0 30.0(169 114 24 O-2 #4 100 78.0 26.0|177 106 44 S+1 vQ 450 86.0 18.0
169 112 2¢v N+1 A 140 74.0 30.0|175 108 24 O-2 #4 100 78.0 26.0|209 272 44 S+1 #8 450 86.0 18.0
173 108 2¢v N+1 ¢A 140 74.0 30.0(269 212 44V-2 vA 100 78.0 26.0(262 219 44 S+1 vQ 450 86.0 18.0
176 105 2¢v N+1 3 140 74.0 30.0 5 1 3&#V-1 vA 50 71.0 33.0(264 217 44 S+1 vQ 450 86.0 18.0
213 272 2v N+1 ¢A 140 740 30.0|168 115 3 V-1 vA 50 71.0 33.0(267 214 44 N+1 T 450 86.0 18.0
267 218 1v N+2 &A 140 74.0 30.0(116 167 4v S-1 &T -100 62.0 42.0|273 208 44 S+1 vQ 450 86.0 18.0
275 210 1vy N+2 ¢A 140 74.0 30.0(170 113 3NN-1 46 -100 62.0 42.0|174 109 3NN+1 «T 430 66.0 38.0
277 208 2y N+1 ¥3 140 740 30.0|174 109 3NN-1 46 -100 62.0 420| 67 64 44 S= vQ 420 60.0 44.0
278 207 1y N+2 ¢A 140 74.0 30.0(203 278 2 N-1 +¢A -100 620 420| 71 14 44 S= &8 420 60.0 44.0
68 15 2v N= v5 110 57.0 47.0|204 277 3NN-1 &5 -100 62.0 42.0|166 117 44 S= vJ 420 60.0 44.0
175 106 2v N= «J 110 57.0 47.0(263 218 2v N-1 48 -100 62.0 42.0|204 277 44 S= vQ 420 60.0 44.0
179 102 2v N= ¢+A 110 57.0 47.0(268 213 3v N-1 #3 -100 62.0 42.0|271 210 44 N= vQ 420 60.0 44.0
269 216 2v S= ¢+A 110 57.0 47.0| 69 16 24 O= &4 -110 48.0 56.0| 77 8 3NN= v4 400 52.0 52.0
1 3 INO-1 +6 100 40.0 64.0|112 171 24 O= &4 -110 48.0 56.0|169 114 3NN = v8 400 52.0 52.0
5 78 INO-1 #9 100 40.0 64.0 (166 117 24 O= %4 -110 48.0 56.0|175 108 3NN = ¢T 400 52.0 52.0
10 73 INO-1 vA 100 40.0 64.0|180 102 24 O= vJ -110 48.0 56.0| 11 74 34 S+2 vQ 200 40.0 64.0
66 17 INO-1 7 100 40.0 64.0|267 214 24 O= &4 -110 48.0 56.0( 80 3 34 S+2 vQ 200 40.0 64.0
69 14 INO-1 +5 100 40.0 64.0|273 208 24 O= #4 -110 48.0 56.0(211 270 3v O-2 &7 200 40.0 64.0
76 7 INO-1 5 100 40.0 64.0|275 206 3# V= *2 -110 48.0 56.0|263 218 3v O-2 &7 200 40.0 64.0
167 114 1¢ O-1 vA 100 40.0 64.0 2 4 264 O+1 #4 -140 26.0 78.0(268 213 34 S+2 ¥3 200 40.0 64.0
171 110 INO-1 5 100 40.0 64.0| 11 74 24 O+1 +6 -140 26.0 78.0|274 207 34 N+2 T 200 40.0 64.0
174 107 INO-1 vA 100 40.0 64.0| 66 65 24 O+1 vJ -140 26.0 78.0 (276 205 34 S+2 #8 200 40.0 64.0
202 204 INO-1 +5 100 40.0 64.0| 67 64 34 O= &4 -140 26.0 78.0(279 202 2vDO-1 #Q 200 40.0 64.0
217 268 INO-1 5 100 40.0 64.0| 73 12 24 O+1 +¢5 -140 26.0 78.0|280 201 34 S+2 +¢Q 200 40.0 64.0
271 214 INO-1 +5 100 40.0 64.0| 77 8 24 O+l &4 -140 26.0 78.0| 13 72 24 S+2 vQ 170 26.0 78.0
280 203 INO-1 &9 100 40.0 64.0| 78 7 24 O+1 &4 -140 26.0 780| 69 16 24 S+2 ¢3 170 26.0 78.0
109 172 INS= +Q 90 250 79.0| 80 3 24 O+1 &4 -140 260 780| 76 9 34 S+1 ¢Q 170 26.0 78.0
164 117 INS= +Q 90 25.0 79.0|101 103 24 O+1 %4 -140 26.0 78.0|110 173 34 S+1 +vQ 170 26.0 78.0
180 101 1v N= #A 80 22.0 82.0|172 111 24 O+1 &4 -140 26.0 78.0(170 113 34 S+1 6 170 26.0 78.0
4 79 INO= 48 -90 14.0 90.0|211 270 24 O+1 4 -140 26.0 78.0|203 278 2¢ N+3 8 150 19.0 85.0
75 8 INO= 43 -90 14.0 90.0|262 219 34 O= #4 -140 26.0 78.0|265 216 2NN+1 ¢8 150 19.0 85.0
77 6 INO= +¢5 90 14.0 90.0|271 210 24 O+1 &4 -140 26.0 780| 75 10 24 S+1 vQ 140 15.0 89.0
165 116 INO= 45 -90 14.0 90.0|274 207 24 O+1 4 -140 26.0 78.0|165 164 14 S+2 44 140 15.0 89.0
211 274 INO= 7 -90 14.0 90.0|280 201 24 O+1 %4 -140 26.0 78.0| 70 15 3v O-1 42 100 11.0 93.0
266 219 INO= +5 -90 14.0 90.0 6 79 24 O+2 &4 -170 9.0 95.0(215 266 2v V-1 42 100 11.0 93.0
273 212 INO= 5 -90 14.0 90.0|105 178 24 O+2 +6 -170 9.0 95.0(101 103 3NN-1 #9 -50 6.0 98.0
205 201 3v N-1 A -100 6.0 98.0|104 179 3v S-2 &5 -200 50 99.0|180 102 3NN-1 +8 -50 6.0 98.0
74 9 INO+1 o7 -120 2.0 102.0 (264 217 3vyDN-1 #8 -200 5.0 99.0(269 212 44 S-1 +6 -50 6.0 98.0
206 279 INO+1 5 -120 2.0 102.0| 71 14 4vyDN-3 45 -800 1.0 103.0 (105 178 2vy O= ¢2 -110 2.0 102.0
276 209 INO+1 o7 -120 2.0 102.0|177 106 5¢D S -3 #J -800 1.0 103.0 (275 206 2v V+1 5 -140 0.0 104.0
7 452 Basta kontrakt 8 482 Basta kontrakt 9 41097653 Basta kontrakt
Syd v ED10864 34 V =-140 Vast v EKn1097 6NT N =990 Nord v ED6 ANT O =-630
Alla 52 Ingen ¢+ EKn2 ov ¢ Kn43
&#Kn52 & ¢ v & NT #Kn95 & ¢ v & NT &Kn & ¢ v & NT
49763 4D1084 N7 47 46 4 E107 #9653 N 1211121112 4 E82 « KD N3 4463
v9 v KKn7 S747 46 vK642 v53 S 1211121112 v K7 v Kn1085 S3446 3
¢ KKn43 ¢ ED1097 059497 49654 ¢ D87 011121 ¢+ D75 + K986 O 108 9 7 10
#E1094 &8 V59497 &84 £10762 viil1l21 #ED1062 #K87 vV 109 9 7 10
& EKKn 4 KDKn4 4 Kn4
v 532 vD8 v 9432
+ 86 + K103 + E102
#KD763 #EKD3 #9543
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
201 209 4v N= 48 620 1040 0.0 3 5 6NN= &4 990 93.0 110| 65 70 5#V-2 &5 200 101.0 3.0
80 4 44 0-4 92 400 1020 20| 77 10 6NS= A 990 93.0 11.0| 69 66 5#V-2 4T 200 101.0 3.0
176 115 2v N+2 &8 170 1000 40| 80 4 6NN= &7 990 93.0 11.0| 79 10 5#V-2 &T 200 101.0 3.0
76 11 3vy N= 4Q 140 950 9.0(169 168 6N S= &5 990 93.0 11.0|205 207 3NV-2 46 200 101.0 3.0
219 270 3vy N= T 140 950 9.0|178 113 6NS= ¢4 990 93.0 11.0|209 203 24 N= #7 110 96.0 8.0
278 211 2vy N+1 &8 140 95.0 9.0|219 270 6NN = &6 990 93.0 11.0| 68 67 5#V-1 T 100 91.0 13.0
279 210 2v S+1 &9 140 95.0 9.0|267 264 6NN = 49 990 93.0 11.0|106 102 5# V-1 &5 100 91.0 13.0
170 167 1lv N+1 ¢A 110 89.0 15.0(273 216 6NS= +5 990 93.0 11.0(216 275 3« V-1 «T 100 91.0 13.0
268 263 2y N= #8 110 89.0 15.0|277 212 6NN= ¢7 990 93.0 11.0|276 215 3NV-1 43 100 91.0 13.0
3 5 40 0-1 &K 100 85.0 19.0|278 211 6NS= A 990 93.0 11.0|164 169 34 N-2 &7 -100 84.0 20.0
178 113 4¢ O-1 5 100 85.0 19.0|279 210 6NN = &5 990 93.0 11.0|262 271 34 S-2 &A -100 84.0 20.0
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7 1 2vN-1 &8 -100 72.0 32.0(280 205 6NS= ¢9 990 93.0 11.0(273 218 34 N-2 &K -100 84.0 20.0
64 69 4v N-1 &8 -100 720 320| 76 11 3NS+4 4 520 80.0 240 8 2 34V= T -110 77.0 27.0
67 66 3v N-1 &8 -100 720 320 6 2 3NS+3 ¢4 490 750 29.0| 75 14 34V= a5 -110 77.0 27.0
79 8 3vN-1 <A -100 720 320 14 73 3NS+3 &7 490 75.0 29.0|171 116 3&# V= &T -110 77.0 27.0

102 110 3y N-1 «Q -100 720 32.0| 64 69 3NS+3 &8 490 75.0 29.0|180 104 3&V= 4T -110 77.0 27.0
116 175 3v N-1 +A -100  72.0 32.0(215 274 3NS+3 2 490 750 290 4 6 44V= 46 -130 72.0 32.0
207 203 3v N-1 +¢A -100 720 320| 68 65 5NN= 7 460 61.0 43.0| 15 74 3v O= 4] -140 70.0 34.0
215 274 3v N-1 &8 -100 720 320 78 9 3NS+2 48 460 61.0 43.0| 78 11 2NV +1 &T -150 65.0 39.0
267 264 3v N-1 +¢A -100  72.0 32.0|114 177 3NS+2 ¢4 460 61.0 43.0|176 111 34V +2 &J -150 65.0 39.0
273 216 3v N-1 +A -100  72.0 320|172 165 3NS+2 &8 460 61.0 43.0|201 211 3v S-3 &2 -150 65.0 39.0
280 205 2y N-1 #8 -100  72.0 32.0(179 112 3NN+2 7 460 61.0 43.0(270 263 2NV +1 43 -150 65.0 39.0

6 2 3¢40= v2 -110 56.0 48.0(207 203 5NS= &7 460 610 43.0| 7 3 3NO= 4] -600 49.0 55.0

77 10 3¢ O= &K -110 56.0 48.0(266 265 3NS+2 ¢4 460 61.0 43.0| 77 12 3NV= aT -600 49.0 55.0
266 265 2¢ O+1 oA -110 56.0 48.0(268 263 3NS+2 &7 460 61.0 43.0| 80 5 3NV= &J -600 49.0 55.0
271 218 3¢ O= A -110 56.0 48.0(269 262 3NS+2 9 460 61.0 43.0|103 105 3NV = oT -600 49.0 55.0
275 214 3¢ O= ¥5 -110 56.0 48.0(275 214 3NS+2 +9 460 61.0 43.0|107 101 3NV = 46 -600 49.0 55.0
204 206 3¢ O+1 &K -130 50.0 54.0| 12 75 5v S= &4 450 48.0 56.0(112 175 3NO= ¢2 -600 49.0 55.0

70 17 24 V+1 &) -140 43.0 61.0| 74 13 4v N+1 &6 450 48.0 56.0(172 115 3NV = aT -600 49.0 55.0

78 9 34 0= ¥3 -140 43.0 61.0(101 111 5v N= 45 450 48.0 56.0(174 113 3NO= &J -600 49.0 55.0
105 107 34 V= &2 -140 43.0 61.0|105 107 4v S= &8 420 440 60.0(268 265 3INO= ¢2 -600 49.0 55.0
114 177 24 O+1 &A -140 43.0 61.0|170 167 2NN+4 7 240 42.0 62.0|272 219 3NV = 3 -600 49.0 55.0
173 164 34 V= vA -140 43.0 610 7 1 6NN-1 43 -50 22.0 82.0|274 217 3NV = aT -600 49.0 55.0
272 217 24 V+1 &2 -140 43.0 61.0| 67 66 6y N-1 45 -50 22.0 82.0|279 212 3NO= 4] -600 49.0 55.0

72 15 3v N-2 &8 200 26.0 78.0| 71 16 6NN-1 &2 -50 22.0 820 1 9 3NV+l a5 -630 21.0 83.0

74 13 3v N-2 &8 200 26.0 780| 79 8 6NS-1 +4 -50 220 82.0| 13 76 3NO+1 +¢2 -630 21.0 83.0
101 111 3v N-2 &8 -200  26.0 78.0(102 110 6v S-1 &7 50 220 82.0| 71 64 3NV+1 3 -630 21.0 83.0
108 104 3v S-2 &8 200 26.0 78.0(108 104 6NS-1 9 50 220 82.0| 73 16 3NO+1 ¢2 -630 21.0 83.0
166 171 3v N-2 &8 -200  26.0 78.0(109 103 6NN-1 &6 -50 22.0 82.0|167 166 3NO+1 +¢2 -630 21.0 83.0
172 165 3v N-2 &7 200 26.0 78.0(116 175 6NN-1 45 -50 22.0 82.0|168 165 3NO+1 ¥2 -630 21.0 83.0
174 117 3v N-2 &8 200 26.0 78.0(166 171 6Yy N-1 7 -50 22.0 82.0|170 117 3NV +1 T -630 21.0 83.0
179 112 34 S-2 ¥9 -200  26.0 78.0(173 164 6NS-1 45 -50 22.0 82.0|177 110 3NO+1 46 -630 21.0 83.0
180 106 4v N-2 48 -200  26.0 78.0(174 117 6NN-1 &6 -50 22.0 82.0|178 109 3NV +1 4T -630 21.0 83.0
208 202 4v N-2 &8 200 26.0 78.0(176 115 6v N-1 ¥5 -50 22.0 82.0|179 108 3NV +1 ¢4 -630 21.0 83.0
269 262 4y N-2 &8 -200  26.0 78.0(180 106 6NN-1 45 -50 22.0 82.0|208 204 3NV +l 46 -630 21.0 83.0

71 16 4v N-3 &8 -300 12.0 92.0(201 209 6v N-1 &6 -50 22.0 82.0(|214 277 3NO+1 +¢2 -630 21.0 83.0
213 276 4v N-3 &8 -300 12.0 92.0 (204 206 6NN-1 &6 -50 22.0 82.0|267 266 3NV +1 &T -630 21.0 83.0
277 212 4v N-3 &8 -300  12.0 92.0(208 202 6NN-1 &7 -50 22.0 82.0|269 264 3NO+1 +¢2 -630 21.0 83.0

14 73 4vDN-2 #8 -500 8.0 96.0(213 276 6NN-1 &2 -50 22.0 82.0|278 213 3NO+1 2 -630 21.0 83.0

12 75 34DV= vA -730 5.0 99.0(271 218 6v N-1 &6 -50 22.0 82.0|280 206 3NO+1 ¢2 -630 21.0 83.0

68 65 3aDV= &J -730 5.0 99.0(272 217 6v N-1 45 -50 22.0 82.0| 72 17 3NV +2 46 -660 2.0 102.0
169 168 4vyDN-3 44 -800 2.0 1020| 70 17 6NS-2 +5 -100 1.0 103.0 (114 173 3NV +2 T -660 2.0 102.0
109 103 44#DS-4 v9 -1100 0.0 104.0| 72 15 6NN-2 &2 -100 1.0 103.0 (202 210 3NV +2 &5 -660 2.0 102.0
10 4 Kn6 Basta kontrakt 11 410 Basta kontrakt 12 4 E976 Basta kontrakt
Ost v K9 3v O =-140 Syd v KKn7 4¢ S =130 Vast v74 2v V =-110
Alla +D1082 Ingen ¢ Kn1098432 NS + Kn1065

#EKKn63 & ¢ v & NT *K2 & ¢ v & NT #Kn94 & ¢ v & NT

482 « KD103 N9 8487 4Kn762 &«ED N 6 106 8 8 4832 41054 N57 576

vDKn8753 vE64 S87 386 vED954 v863 S 6 106 8 8 v1096 vKKn32 S57576

4 96 ¢ EKn74 0459 44 +D ¢ K65 073753 +D82 ¢EK4 O6 6 867

+D82 »107 V45944 #983 #DKnl1064 V 7 3 7 5 3 #ED32 #K85 V66867

2 E9754 & K98543 &« KDKn
v 102 v 102 v ED85
+ K53 ¢ E7 4973

#954 *E75 #1076

Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang

8 2 240-4 &9 400 104.0 0.0(279 208 44DO-4 ¢+A 800 104.0 0.0(115 174 34 O-2 &K 100 103.0 1.0

164 169 4v V-2 &A 200 970 70| 72 65 4vDV-3 T 500 102.0 2.0(165 170 3v O-2 &K 100 103.0 1.0
179 108 24 V-2 &4 200 970 7.0 1 11 3vDV-2 T 300 100.0 4.0 1 11 3v0O-1 «K 50 92.0 12.0
202 210 4v V-2 &A 200 970 7.0| 69 68 4v V-5 4T 250 980 6.0 9 3 3vO-1 &K 50 92.0 12.0
208 204 4vDV-1 #A 200 970 7.0(165 170 34 S+1 vQ 170 96.0 80| 72 65 24 0-1 K 50 92.0 12.0
209 203 2¢ O-2 ¢2 200 970 70| 66 71 3#0-3 ¢A 150 93.0 11.0(104 106 2NO-1 &K 50 92.0 12.0
278 213 4v V-2 &A 200 97.0 7.0(265 264 3v V-3 4T 150 93.0 11.0(113 176 2# O-1 &K 50 92.0 12.0
103 105 INN+2 ¢4 150 89.0 150 80 6 24 S+1 ¢Q 140 89.0 15.0(207 201 3NO-1 &K 50 92.0 12.0
180 104 2NN +1 &T 150 89.0 15.0(108 102 24 S+1 +Q 140 89.0 15.0(218 269 2NV-1 +J 50 92.0 12.0

75 14 44 N= v4 130 85.0 19.0(104 106 4¢ N= 5 130 84.0 20.0(271 216 INV-1 46 50 92.0 12.0
112 175 3« N+1 vA 130 85.0 19.0(207 201 3¢ N+1 «T 130 84.0 20.0(279 208 2NV -1 5 50 92.0 120
279 212 2NN= 5 120 82.0 22.0|277 210 3¢+ N+1 #Q 130 84.0 20.0(168 167 1v O= &K -80 82.0 220

68 67 3« N= ¢A 110 740 30.0| 14 77 24 S= ¢+Q 110 70.0 34.0| 2 10 INV= a7 -90 65.0 39.0

69 66 24 S= ¢+9 110 740 30.0| 73 64 3¢ N= #Q 110 700 340| 8 4 INV= 46 90 65.0 39.0
106 102 24 N= vA 110 74.0 30.0|101 109 24 S= +Q 110 70.0 34.0| 16 75 INV= 46 -90 65.0 39.0
167 166 3« N= vA 110 74.0 30.0|168 167 3¢ N= &T 110 70.0 34.0| 66 71 INV= a7 -90 65.0 39.0
177 110 24 S= ¢+9 110 740 30.0(171 164 24 S= &3 110 700 34.0| 76 15 INV= 46 90 65.0 39.0
178 109 3# N= ¢4 110 740 30.0|172 117 24 S= &8 110 70.0 34.0|107 103 1INV = v7 -90 65.0 39.0
269 264 24 N+1 ¢A 110 74.0 30.0|178 111 24 S= ¢+Q 110 70.0 34.0|171 164 1INV = 46 -90 65.0 39.0

7 3 3vV-l1 &A 100 59.0 45.0 (206 202 24 S= +Q 110 70.0 34.0|175 114 1INV = *T -90 65.0 39.0
13 76 3v V-1 &A 100 59.0 45.0(212 275 24 S= +Q 110 70.0 34.0|180 105 INO= &K -90 65.0 39.0
15 74 3v V-1 &K 100 59.0 45.0(214 273 24 S= #3 110 70.0 34.0|212 275 INV= a7 -90 65.0 39.0

114 173 4v V-1 &A 100 59.0 45.0|274 213 24 S= +Q 110 70.0 34.0(214 273 INV= 46 -90 65.0 39.0
168 165 2v V-1 &A 100 500 450 5 7 4#0-2 +A 100 50.0 54.0|265 264 1INV = +5 -90 65.0 39.0
216 275 3v V-1 &K 100 590 450 9 3 3vV-2 4T 100 50.0 54.0(270 217 1INV = v7 -90 65.0 39.0
270 263 3v V-1 &K 100 500 450 16 75 3v V-2 &T 100 50.0 54.0(272 215 2# V= &K -90 65.0 39.0
273 218 4v V-1 &A 100 59.0 45.0| 79 12 3v V-2 4T 100 50.0 54.0|277 210 INO= &7 -90 65.0 39.0

65 70 2# N= &K 90 50.0 54.0 (107 103 3v V-2 4T 100 50.0 54.0 (280 204 2# O= &K -90 65.0 39.0
171 116 3# N-1 &7 -100  47.0 57.0(169 166 3v V-2 T 100 50.0 54.0| 74 17 24 N-1 A -100 46.0 58.0
267 266 3v N-1 &A -100  47.0 57.0(179 110 3v V-2 T 100 50.0 54.0| 79 12 2¢ N-1 +A -100 46.0 58.0

72 17 2v V= #A -110 38.0 66.0(278 209 3v V-2 T 100 50.0 54.0 (172 117 24 N-1 45 -100 46.0 58.0

77 12 2v V= &A -110 38.0 66.0(280 204 3v V-2 T 100 50.0 54.0(| 78 13 1v O+1 &K -110 35.0 69.0

78 11 2v V= &A -110 38.0 66.0( 74 17 3v V-1 T 50 37.0 67.0(101 109 2v O= &K -110 35.0 69.0

80 5 2vV=  #A -110 38.0 66.0|115 174 3v V-1 ¢J 50 37.0 67.0(108 102 2v O= &K -110 35.0 69.0
107 101 2v V= &K -110 38.0 66.0 (267 262 3v V-1 &T 50 37.0 67.0(173 116 2v O= &K -110 35.0 69.0
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205 207 2v V= &A -110 38.0 66.0(270 217 3#O-1 *T 50 37.0 67.0(178 111 2v O= &K -110 35.0 69.0
268 265 2v V= &A -110 38.0 66.0| 2 10 4¢ N-1 &#Q -50 26.0 78.0|203 205 2v O= K -110 35.0 69.0
1 9 3vV= &A -140 26.0 780 78 13 24 S-1 +Q -50 26.0 78.0|266 263 1v O+1 &K -110 35.0 69.0
71 64 3v V= #A -140 26.0 78.0(113 176 24 S-1 &3 -50 26.0 78.0|274 213 2v O= &K -110 35.0 69.0
73 16 3y O= &5 -140 26.0 78.0|175 114 34 S-1 +Q 50 26.0 78.0| 70 67 INV+1l J -120  20.0 84.0
174 113 2v V+1 &A -140 26.0 78.0|203 205 4¢ N-1 #Q 50 26.0 78.0| 73 64 INO+1 &J -120  20.0 84.0
214 277 2v V+1 &A -140 26.0 78.0(218 269 4¢ N-1 +3 -50 26.0 78.0|169 166 INV+1 45 -120  20.0 84.0
4 6 2vV+2 #A -170  17.0 87.0|268 219 24 S-1 +Q -50 26.0 78.0|177 112 INO+1 &K -120  20.0 84.0
170 117 2v O+2 44 -170  17.0 87.0| 70 67 INV= T -90 18.0 86.0|206 202 INV+1 v7 -120  20.0 84.0
274 217 3v V+1 #K -170 17.0 870| 76 15 24 S-2 +Q -100 10.0 94.0|268 219 INO+1 7 -120  20.0 84.0
280 206 2y O+2 2 -170  17.0 87.0(173 116 34 S-2 +Q -100 10.0 94.0|278 209 INO+1 &K -120  20.0 84.0
176 111 1INV +3 &A -180 12.0 92.0 (177 112 34 N-2 &3 -100 100 940| 5 7 INV+2 45 -150 10.0 94.0
79 10 44 N-2 &T -200 8.0 96.0(180 105 34 S-2 &9 -100  10.0 94.0| 69 68 INV+2 45 -150 10.0 94.0
201 211 24 S-2 +9 -200 8.0 96.0(271 216 34 S-2 &3 -100  10.0 94.0(267 262 INO+2 &K -150 10.0 94.0
272 219 44 N-2 &T -200 8.0 96.0(272 215 34 S-2 &8 -100  10.0 940 14 77 24 N-2 +¢K -200 3.0 101.0
172 115 4v V= &K -620 3.0 101.0 (276 211 5¢ N-2 &A -100 100 940 80 6 2#S-2 v6 -200 3.0 101.0
262 271 4v V= &A -620 3.0 101.0 (266 263 2NN-4 #Q -200 2.0 102.0 (179 110 34 N-2 ¢A -200 3.0 101.0
276 215 3NV +1 &A -630 0.0 1040 8 4 44DS-2 #8 -300 0.0 104.0 (276 211 24 N-2 +¢A -200 3.0 101.0
13 432 Basta kontrakt 14 453 Basta kontrakt 15 4 Kn108762 Basta kontrakt
Nord v EK7 4v O =-620 Ost v KD5 44 S =420 Syd vKD2 3¢ V =-110
Alla + EK65432 Ingen + Kn10985 NS +9
*3 & ¢ v & NT #EK5 & ¢ v & NT #D82 & ¢ v & NT
& K98 s E N27 3765 s K & Kn942 N8 7 6 108 « D953 « EK N6 3877
v 1098532 vKn4 S27375 vE96432 v107 S 87 6 108 vE8 vKn7 S6 3877
.- ¢ DKn1087 O 106 105 7 ¢ E7 ¢ KD432 0457 34 ¢+ D108754 ¢ 632 079 46 4
#EKn84  &#KD1065 V 116 105 7 +D762 #43 V45734 &4 #E109753 V 7 9 4 6 4
4 DKn107654 4 ED10876 a4
v D6 v Kn8 v 1096543
+9 +6 ¢ EKKn
#972 #Kn1098 #KKn6
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
201 215 34D S +2 &#A 1130 104.0 0.0(177 166 24D S+1 #2 570 104.0 0.0(101 113 4vDS= #4 790 103.0 1.0
111 107 44DS= &A 790 102.0 2.0(274 263 3vDV-3 «K 500 102.0 2.0(175 164 4vDS= &4 790 103.0 1.0
80 7 44 S= #4 620 97.0 7.0| 74 65 3vyDV-2 44 300 100.0 4.0 71 70 3NS+1 48 630 100.0 4.0
173 170 44 S= 48 620 970 7.0| 75 64 3vV-4 &5 200 96.0 8.0(180 107 4v S= #4 620 98.0 6.0
176 167 44 S= &A 620 97.0 7.0(117 101 3¢ O-4 vJ 200 96.0 80| 4 12 5¢DV-2 vK 300 92.0 12.0
203 213 44 S= &8 620 97.0 7.0(280 208 3v V-4 #A 200 96.0 80| 68 73 5¢DV-2 vK 300 92.0 12.0
74 65 5vDV-2 ¢A 500 91.0 13.0(104 114 24 S+2 #6 170 92.0 12.0(103 111 5¢DV-2 vK 300 92.0 12.0
79 14 54D O-2 ¢8 500 91.0 13.0|112 106 3v V-3 +J 150 89.0 15.0|177 116 5¢DV-2 vK 300 92.0 12.0
6 8 54DO-1 ¢9 200 84.0 20.0(218 277 3¢ O-3 #J 150 89.0 15.0(217 201 5¢DV-2 vK 300 92.0 12.0
10 4 4vDV-1 ¢K 200 84.0 20.0| 15 78 24 S+1 ¢A 140 82.0 22.0(106 108 4# O-5 +A 250 86.0 18.0
17 76 54 0-2 9 200 840 20.0| 77 16 24 S+1 K 140 820 220| 7 9 2vS+2 #4 170 75.0 29.0
112 106 4#DO-1 ¢9 200 840 200(| 80 7 24 N+1 T 140 820 22.0| 16 79 3vS+1 #4 170 75.0 29.0
216 279 54D O-1 ¢9 200 84.0 20.0(103 115 34 S= #6 140 82.0 22.0| 64 77 3v S+l &7 170 75.0 29.0
103 115 34 S= #A 140 78.0 26.0(173 170 34 S= v4 140 820 220| 80 8 3vS+1 #4 170 75.0 29.0
211 205 440-1 9 100 76.0 28.0| 9 5 24S= ¢A 110 72.0 32.0|109 105 3v S+1 &4 170 75.0 29.0
2 12 44 S-1 ¥T -100 68.0 36.0| 17 76 24 S= &6 110 72.0 32.0|205 213 3v S+1 %4 170 75.0 29.0
3 11 44 S-1 &A -100 68.0 36.0(102 116 24 S= vA 110 72.0 32.0|211 207 3v S+1 %4 170 75.0 29.0
73 66 34 S-1 #A -100 68.0 36.0|175 168 24 S= vA 110 72.0 32.0|212 206 3v S+1 &4 170 75.0 29.0
108 110 3¢ N-1 vJ -100 68.0 36.0 (275 262 24 S= vA 110 72.0 32.0|270 269 2v S+2 &4 170 75.0 29.0
270 267 44 S-1 &A -100 68.0 36.0 1 13 3vV-2 &5 100 60.0 44.0(279 218 3v S+1 &5 170 75.0 29.0
274 263 44 S-1 #A -100 68.0 36.0| 67 72 3vV-2 &A 100 60.0 44.0 1 15 3vS= #4 140 50.0 54.0
278 217 44 S-1 vT -100 68.0 36.0| 70 69 3vV-2 &5 100 60.0 44.0| 76 65 2v S+1 &4 140 50.0 54.0
117 101 44 O0= +38 -130 59.0 45.0(169 174 3v V-2 45 100 60.0 44.0|117 176 3v S= &A 140 50.0 54.0
272 265 44 0= ¢9 -130 59.0 45.0(176 167 3v V-2 45 100 60.0 44.0(170 169 3v S= #4 140 50.0 54.0
102 116 44 O+1 9 -150 56.0 48.0(202 214 3v V-2 &A 100 60.0 44.0|171 168 3v S= #4 140 50.0 54.0
1 13 44 S-2 v6 -200  47.0 57.0(270 267 2v V-2 &K 100 60.0 44.0|174 165 3v S= &4 140 50.0 54.0
70 69 34DS-1 *T 200 47.0 570 2 12 3v V-1 &5 50 48.0 56.0|202 216 2v S+1 #4 140 50.0 54.0
165 178 44 S-2 &#A 200 47.0 57.0| 71 68 3v V-1 &A 50 48.0 56.0 (219 278 2v S+1 &6 140 50.0 54.0
169 174 3¢DN-1 4A 200 47.0 57.0(111 107 2v V-1 45 50 48.0 56.0 (265 274 3v S= #4 140 50.0 54.0
175 168 44 S-2 *T -200 47.0 57.0(179 164 3v V-1 &3 50 48.0 56.0|271 268 3v S= #4 140 50.0 54.0
179 164 4¢ N-2 9] -200  47.0 57.0(216 279 2¢v V-1 ¢J 50 48.0 56.0 (272 267 3v S= #4 140 50.0 54.0
269 268 3¢ N-2 vJ 200 470 570 6 8 34S-1 +A -50 32.0 72.0|275 264 3v S= #4 140 50.0 54.0
276 219 3¢ N-2 #Q -200 470 57.0(108 110 3NN-1 T -50 32.0 72.0|276 263 24 S+1 &4 140 50.0 54.0
71 68 44 S-3 #A -300 35.0 69.0(165 178 24 S-1 +A -50 32.0 72.0|277 262 3v S= &4 140 50.0 54.0
104 114 3NN-3 &K -300 35.0 69.0(172 171 34 S-1 +A -50 32.0 72.0|280 209 3v S= #4 140 50.0 54.0
202 214 44 S-3 #A -300 35.0 69.0(180 109 34 S-1 ¥4 -50 320 72.0| 74 67 4¢ V-2 vK 100 34.0 70.0
271 266 44 S-3 ¥T -300 35.0 69.0(203 213 34 S-1 +A 50 320 720 2 14 4e¢ V-1 4] 50 30.0 74.0
15 78 5¢ N-4 vJ] 400 26.0 78.0(204 212 34 S-1 &5 -50 32.0 72.0|110 104 5¢ V-1 v¥K 50 30.0 74.0
75 64 5¢ N-4 9] -400 26.0 78.0(207 209 34 S-1 &6 -50 32.0 72.0|167 172 3# O-1 44 50 30.0 74.0
210 206 64 S-4 &A -400 26.0 78.0(211 205 44 S-1 YA -50 320 720| 3 13 4vS-1 &4 -100 19.0 85.0
218 277 54 S-4 &A -400 26.0 78.0(264 273 34 S-1 YA 50 320 720| 10 6 4vS-1 4 -100 19.0 85.0
264 273 5¢ N-4 &A -400 26.0 78.0(278 217 34 S-1 +A 50 320 720| 11 5 4vS-1 &4 -100 19.0 85.0
67 72 4¢DN-2 aA -500 18.0 86.0| 3 11 2NN-2 *T -100  13.0 91.0| 72 69 4v S-1 #6 -100 19.0 85.0
177 166 4¢DN-2 4A -500 18.0 86.0( 10 4 34DS-1 ¢A -100 13.0 91.0| 75 66 4v S-1 &4 -100 19.0 85.0
280 208 44D S -2 #A -500 18.0 86.0| 79 14 44 S-2 +A -100  13.0 91.0(179 114 24 N-1 46 -100 19.0 85.0
275 262 4v V= ¢ A -620 14.0 90.0 (201 215 44 S-2 &6 -100  13.0 91.0(208 210 3v S-1 &4 -100 19.0 85.0
9 5 4vyDV= +A -790  12.0 92.0 (210 206 44 S-2 vA -100  13.0 91.0(273 266 3# N-1 44 -100 19.0 85.0
172 171 4¢DN-3 vJ -800 9.0 95.0(269 268 44 S-2 YA -100  13.0 91.0(173 166 3¢ V= vK -110 9.0 95.0
207 209 4¢DN-3 vJ -800 9.0 95.0(272 265 34DS-1 ¢A -100  13.0 91.0(204 214 3¢ V= vK -110 9.0 95.0
77 16 5¢DN-4 «K -1100 4.0 100.0|276 219 3NN-2 T -100  13.0 91.0|115 178 4¢ V= vK -130 6.0 98.0
105 113 54DS-4 A -1100 4.0 100.0|105 113 3v V= &A -140 4.0 100.0| 78 17 4vDS-1 #4 -200 3.0 101.0
180 109 5¢DN-4 «A -1100 4.0 100.0| 73 66 2NN-3 T -150 1.0 103.0 (102 112 4v S-2 %4 -200 3.0 101.0
204 212 5¢DN-6 &K -1700 0.0 104.0 (271 266 2NN-3 *T -150 1.0 103.0 (203 215 3NDS-4 ¢5 -1100 0.0 104.0
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16 48762 Basta kontrakt 17 410 Basta kontrakt 18 4 EKn72 Basta kontrakt
Vast v EDKn 44 N =420 Nord v K6532 34 O =-140 Ost v KKn96 ANT S =630
oV + ED1083 Ingen + 104 NS ¢+ Kn94
»2 & ¢ v & NT #EKn954 & ¢ v & NT #107 & ¢ v & NT
4KD93 «Kn N 8 108 109 « D62 & EKn754 N7 46 4 4 4 D65 4983 N9 7 8 9 10
vK109 8763 S 8 108 109 vE1084 vKn9 S7 46 44 vED754 ¢82 S97 89 10
¢+ K76 4952 O5 3533 ¢ ED63 ¢ KKn9 06 97 98 +8 ¢EK10632 O 4 6 4 3 3
&#KD4 #Knl0865 V 5 3 5 3 3 &76 D103 V687 98 #Kn962 %84 V46 433
4 E1054 & K983 4 K104
v 542 vD7 v 103
+ Kn4 48752 + D75
#E973 *K82 #EKD53
Par Kontr ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
208 210 34 V-5 +A 500 1040 0.0 73 70 44 O-3 vQ 150 101.0 3.0|111 105 3NS+2 ¢5 660 104.0 0.0
1 15 44 N= &J 420 1020 20| 80 9 440-3 vQ 150 101.0 3.0 8 10 3NS+1 48 630 97.0 7.0
273 266 24 V - &2 400 100.0 4.0|168 173 44 O-3 vQ 150 101.0 30| 12 6 3NS+1 ¥4 630 970 7.0
3 13 INV-3 +8 300 95.0 9.0(279 214 44 O-3 vQ 150 101.0 3.0|174 167 3NN+1 +6 630 97.0 7.0
80 8 INV-3 ¢3 300 95.0 9.0|209 205 2y N= «4 110 96.0 8.0(209 205 3NS+1 #2 630 97.0 7.0
103 111 INV-3 3 300 950 9.0| 4 14 44 O0-2 +8 100 82.0 22.0(210 204 3NN+1 ¢6 630 970 7.0
270 269 INV-3 &7 300 950 9.0 65 78 44 O-2 43 100 82.0 22.0|279 214 3NS+1 +8 630 97.0 7.0
177 116 INO-2 ¢Q 200 89.0 15.0| 76 67 44 O-2 +8 100 82.0 22.0 2 16 3NS= +8 600 81.0 23.0
217 201 2NV-2 &6 200 89.0 15.0|101 115 44 O-2 vQ 100 82.0 22.0 5 13 3NS= 5 600 81.0 23.0
279 218 24 N+2 #J 170 86.0 18.0 (103 113 44 O-2 +5 100 820 220| 75 68 3NS= +8 600 81.0 23.0
4 12 24 S+1 #«K 140 78.0 26.0(104 112 44 O-2 v7 100 820 220| 76 67 3NS= +8 600 81.0 23.0
16 79 2v S+1 &K 140 78.0 26.0(176 165 44 O-2 +¢5 100 82.0 22.0(102 114 3NS= +8 600 81.0 23.0
68 73 34 S= &4 140 78.0 26.0|178 117 44 O-2 +8 100 82.0 22.0|103 113 3NS= +8 600 81.0 23.0
71 70 34 S= &K 140 78.0 26.0(180 108 44 O-2 +¢5 100 82.0 22.0|168 173 3NS= v5 600 81.0 23.0
179 114 24 S+1 9 140 78.0 26.0(203 211 44 O-2 &2 100 82.0 22.0(215 278 3NS= vA 600 81.0 23.0
202 216 24 S+1 v9 140 78.0 26.0|263 272 44 O-2 &2 100 82.0 22.0|273 262 3NN= + K 600 81.0 23.0
219 278 34 N= #J 140 78.0 26.0(270 265 44 O-2 vQ 100 82.0 22.0|274 219 3NS= +8 600 81.0 23.0
10 6 2¢ N+2 4J 130 68.0 36.0(275 218 44 O-2 &2 100 82.0 22.0(171 170 2NS+2 ¥5 180 69.0 35.0
72 69 2¢ N+2 #J 130 68.0 36.0 5 13 44 0-1 ¢Q 50 49.0 55.0(180 108 INS+3 #2 180 69.0 35.0
115 178 2¢ N+2 «J 130 68.0 36.0 8 10 44 O-1 #3 50 49.0 55.0| 69 74 3¢ O-3 #A 150 63.0 41.0
11 5 2¢ N+1 «J 110 520 52.0| 12 6 340-1 vQ 50 49.0 55.0| 72 71 3v V-3 &T 150 63.0 41.0
74 67 24 N= &J 110 520 520 17 1 44 0O-1 +¢5 50 49.0 55.0(104 112 2v V-3 T 150 63.0 41.0
76 65 2¢ N+1 #J 110 52.0 52.0| 75 68 44 O-1 vQ 50 49.0 55.0|176 165 2NN+1 ¥8 150 63.0 41.0
78 17 3¢ N= «J 110 520 520 79 64 44 O-1 +vQ 50 49.0 550 4 14 24 N+1 ¢A 140 55.0 49.0
102 112 3¢ N= #J 110 52.0 52.0(102 114 2¢ V-1 #A 50 49.0 55.0| 65 78 24 N+1 ¢A 140 55.0 49.0
106 108 2¢ N+1 &5 110 52.0 52.0|107 109 34 O-1 8 50 49.0 55.0( 80 9 24 S+1 ¢8 140 55.0 49.0
174 165 2¢ N+1 «J 110 52.0 52.0(110 106 44 O-1 &2 50 49.0 55.0(280 207 3v N= ¢K 140 55.0 49.0
175 164 24 S= &K 110 52.0 52.0(111 105 3¢ V-1 T 50 49.0 55.0|277 216 2NN = +3 120 50.0 54.0
180 107 2¢ N+1 #J 110 52.0 52.0|164 177 34 O-1 +vQ 50 49.0 55.0 3 15 24S+1 8 110 41.0 63.0
211 207 2¢ N+1 «J 110 52.0 52.0|171 170 34 O-1 5 50 490 550 11 7 34S= +8 110 41.0 63.0
271 268 2¢ N+1 «J 110 52.0 52.0(172 169 3NO-1 +8 50 49.0 550| 17 1 3#S= +8 110 41.0 63.0
276 263 2¢ N+1 «J 110 52.0 52.0|201 213 34 O-1 8 50 49.0 55.0(116 179 3% S= +5 110 41.0 63.0
277 262 2¢ N+1 «J 110 52.0 52.0(206 208 34 O-1 vQ 50 49.0 55.0(164 177 34 S= +8 110 41.0 63.0
7 9 INV-1 +3 100 32.0 72.0(210 204 44 O-1 +8 50 49.0 55.0(172 169 3# S= +8 110 41.0 63.0
64 77 INV-1 48 100 32.0 72.0|215 278 34 O-1 vQ 50 49.0 55.0(206 208 3% S = +8 110 41.0 63.0
101 113 INV-1 48 100 32.0 72.0(269 266 44 O-1 w7 50 49.0 55.0|270 265 34 S= +8 110 41.0 63.0
109 105 INV-1 48 100 32.0 72.0(273 262 44 V-1 T 50 49.0 55.0| 77 66 2¢ O-2 #4 100 320 720
171 168 INV-1 +8 100 320 720|277 216 34 O-1 w7 50 49.0 55.0| 79 64 24 N-1 +A -100 21.0 83.0
205 213 INV-1 3 100 320 72.0| 72 71 3vyN-2 49 -100 28.0 76.0(101 115 44 S-1 +8 -100 21.0 83.0
212 206 2v V-1 #2 100 320 720| 77 66 24 O= vQ -110 250 79.0|107 109 4NS-1 +8 -100 21.0 83.0
280 209 1s S= &K 80 24.0 80.0(217 276 2¢ V+1 T -110 25.0 79.0|110 106 3NS-1 +8 -100 21.0 83.0
75 66 24 S-1 &9 -50 20.0 84.0| 11 7 2NV= &5 -120  19.0 85.0 (175 166 44 S-1 ¢7 -100 21.0 83.0
203 215 3¢ N-1 4 -50 20.0 84.0|116 179 2NO= ¢2 -120  19.0 85.0|202 212 34 N-1 ¢A -100 21.0 83.0
272 267 34 S-1 vT -50 20.0 84.0|174 167 2NO= 2 -120  19.0 85.0|203 211 3#S-1 +8 -100 21.0 83.0
167 172 1INV = +3 90 15.0 89.0|175 166 2NO= +7 120 19.0 85.0(269 266 44 N-1 +8 -100 21.0 83.0
204 214 INV = +6 -90 15.0 89.0|271 264 34 O= vQ -140 13.0 91.0(271 264 44 N-1 +A -100 21.0 83.0
110 104 34 S-2 «K -100  10.0 94.0(274 219 34 O= vQ -140 13.0 91.0(275 218 3#S-1 +8 -100 21.0 83.0
117 176 34 S-2 &K -100 10.0 94.0 3 15 34 O+1 8 170  10.0 94.0| 73 70 34 N-2 ¢A -200 6.0 98.0
275 264 44 S - v9 -100 10.0 94.0 2 16 3BNO= +8 -400 8.0 96.0|178 117 44 S-2 +8 -200 6.0 98.0
2 14 INV+1 46 -120 50 990 69 74 44 O= vQ -420 4.0 100.0 (201 213 3vy N-2 ¢A -200 6.0 98.0
265 274 INV+1 &2 -120 5.0 99.0(202 212 44 O= vQ -420 4.0 100.0 |263 272 44 N-2 +A -200 6.0 98.0
173 166 1INV +2 <vA -150 2.0 102.0 (280 207 44 O= 7 -420 4.0 100.0 (268 267 4v N-2 ¢A -200 6.0 98.0
170 169 44 S-4 &K -200 0.0 104.0|268 267 3NO+1 43 -430 0.0 104.0|217 276 3NS-3 v4 -300 0.0 104.0
19 « D63 Bésta kontrakt 20 & KKn32 Bésta kontrakt 21 « DKn1062 Bésta kontrakt
Syd v D862 54 S =450 Vast v K6 34 N =140 Nord v 10865 5¢ V =-400
ov + EKn Alla + K1082 NS +ED
D943 & ¢ v & NT #964 & ¢ v & NT K4 & ¢ v & NT
4952 & Kn74 N 1010101110 | 44 « D105 N7 66 97 453 « EK7 N6 27 86
vEKn5 v1073 S 1010111110 | vDKnl1l0542 w7 S76697 v E92 vKn S6 2786
¢+ D94 4 10653 033223 49743 + ED65 O6 76 36 ¢ K3 ¢ Kn109876520 6 104 5 5
#KKn75 #1086 V33223 &K3 #DKn872 V676 36 #Kn98765 &#E V 6 115 5 5
« EK108 4« E9876 4984
v K94 v E983 vKD743
+ K872 + Kn ¢4
S»E2 #E105 #D1032
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
280 211 3NS+3 &7 490 104.0 0.0|207 215 54D O-3 «A 800 1040 00| 78 69 3v S= ¢+ K 140 103.0 1.0
5 15 3NS+2 &5 460 96.0 80| 74 71 44 N+1 vQ 650 100.0 4.0|103 117 3vy N= T 140 103.0 1.0
74 71 3NS+2 v5 460 96.0 8.0|103 167 44 S+1 #3 650 100.0 4.0|101 165 24 N= vJ 110 100.0 4.0
115 109 3NS+2 49 460 96.0 8.0(279 264 44 N+1 ¢A 650 100.0 4.0(262 204 5¢DO-1 vK 100 98.0 6.0
168 102 3NS+2 &5 460 96.0 8.0|106 164 44 S= vQ 620 93.0 11.0(170 175 5¢ O-1 +4 50 95.0 9.0
206 216 3NS+2 &7 460 96.0 8.0(168 102 44 S= &A 620 93.0 11.0|203 263 5¢ O-1 9 50 95.0 9.0
263 201 3NS+2 #5 460 96.0 8.0(|204 218 44 S= vQ 620 93.0 110| 77 70 3vS-1 K -100 90.0 14.0
267 276 3NS+2 &7 460 96.0 8.0(274 269 44 S= +3 620 93.0 11.0|106 114 34 N-1 #A -100 90.0 14.0
3 17 3NS+1 42 430 65.0 39.0(105 165 2v O-2 +¢J 200 85.0 19.0|113 107 44 N-1 #A -100 90.0 14.0
4 16 3NS+1 v5 430 65.0 39.0|175 174 2v O-2 +¢J 200 85.0 19.0 (164 102 4¢ O= vK -130 85.0 19.0
6 14 3NS+1 &5 430 65.0 39.0(263 201 2v O-2 +¢J 200 85.0 19.0|273 272 4¢ O= vK -130 85.0 19.0
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9 11 3NS+1 &5 430 65.0 39.0(278 265 2v O-2 +¢J 200 85.0 19.0| 2 66 4¢ O+l &9 -150 63.0 41.0
64 2 3NS+1 ¢4 430 650 39.0| 1 65 34S+1 vQ 170 780 260| 5 17 4¢ O+1 9 -150 63.0 41.0
66 79 3NS+1 49 430 65.0 39.0| 9 11 34S+1 vQ 170 780 26.0| 6 16 4¢ O+1 «4 -150 63.0 410
77 68 3NS+1 &5 430 65.0 39.0| 80 10 34 S+1 vQ 170 78.0 26.0| 10 12 4¢ O+1 9 -150 63.0 41.0
78 67 3NS+1 &5 430 650 39.0| 5 15 34S= vQ 140 64.0 400 74 73 4¢ O+l o4 -150 63.0 41.0
80 10 3NN+1 4 430 65.0 39.0( 13 7 24 S+1 #K 140 64.0 40.0| 79 68 3¢ O+2 49 -150 63.0 410

103 167 3NS+1 &7 430 650 39.0| 64 2 34S= vQ 140 64.0 40.0 80 11 4¢ O+1 o4 -150 63.0 41.0
105 165 3NS+1 &5 430 65.0 39.0| 73 72 24 S+1 vQ 140 64.0 40.0 (105 115 2¢ O+3 9 -150 63.0 41.0
106 164 3NS+1 &7 430 65.0 39.0(101 169 34 S= &K 140 64.0 40.0 (109 111 3¢ O+2 9 -150 63.0 410
107 117 3NS+1 ¢4 430 65.0 39.0(111 113 24 S+1 vQ 140 64.0 40.0 (112 108 4¢ O+1 a2 -150 63.0 41.0
108 116 3NS+1 &2 430 65.0 39.0(115 109 34 S= vQ 140 64.0 40.0(166 179 4¢ O+1 +Q -150 63.0 41.0
111 113 3NS+1 &5 430 65.0 39.0(176 173 34 S= &K 140 64.0 40.0(176 169 4¢ O+1 vK -150 63.0 410
176 173 3NS+1 &5 430 65.0 39.0(202 262 3«4 S= vQ 140 64.0 40.0(180 110 3¢ O+2 4 -150 63.0 41.0
178 171 3NS+1 42 430 65.0 39.0(206 216 34 S= vQ 140 64.0 40.0 (208 216 2¢ O+3 4 -150 63.0 41.0
179 170 3NS+1 vJ 430 65.0 39.0(275 268 24 S+1 ¢3 140 64.0 40.0(211 213 3¢ O+2 49 -150 63.0 410
204 218 3NS+1 &5 430 65.0 39.0 (277 266 24 S= vQ 110 52.0 52.0(268 277 4¢ O+1 &2 -150 63.0 41.0
205 217 3NS+1 #5 430 65.0 39.0| 66 79 2v V-1 &3 100 48.0 56.0 (274 271 4¢ O+1 &9 -150 63.0 41.0
219 203 3NS+1 &7 430 65.0 39.0(108 116 2v O-1 «A 100 48.0 56.0(275 270 4¢ O+1 ¢3 -150 63.0 410
273 270 3NS+1 &5 430 65.0 39.0(166 104 2v O-1 +¢J 100 48.0 56.0 (278 267 3¢ O+2 49 -150 63.0 41.0
274 269 3NS+1 &5 430 65.0 39.0(179 170 INN= 48 90 44.0 60.0(280 212 3¢ O+2 49 -150 63.0 41.0
279 264 3NN+1 #8 430 650 39.0| 4 16 34S-1 &K -100 29.0 750 4 64 44 N-2 &A -200 40.0 64.0
13 7 44 S= &5 420 400 640 6 14 44S-1 vQ -100 29.0 75.0(178 167 44 N-2 #A  -200 40.0 64.0

1 65 3NS= 46 400 230 81.0| 12 8 44S-1 #K -100 29.0 75.0({201 265 44DN-1 vJ -200 40.0 64.0
70 75 3NS= &5 400 230 810| 76 69 34 S-1 vQ -100 29.0 750|264 202 4v N-3 #A -300 36.0 68.0
73 72 3NS= &5 400 23.0 81.0| 77 68 44 S-1 vQ -100 29.0 750 13 9 5¢ 0= 4 -400 25.0 79.0
76 69 3NS= &5 400 23.0 81.0| 78 67 44 S-1 &K -100 290 750 14 8 5¢ 0= 49 -400 25.0 79.0

101 169 3NS= 49 400 23.0 81.0|114 110 44 S-1 vQ -100 290 750| 65 3 5¢ 0= vK -400 25.0 79.0
114 110 3NN= &5 400 23.0 81.0(172 177 44 N-1 v7 -100 290 750 67 1 5¢ O= 43 -400 25.0 79.0
166 104 3NS=  #5 400 23.0 81.0(178 171 44 S-1 vQ -100 29.0 750 71 76 5¢ O= &4 -400 25.0 79.0
172 177 3NS= &5 400 23.0 81.0|214 208 34 S-1 «#K -100 29.0 75.0|104 116 5¢ O= vQ -400 25.0 79.0
175 174 3NS= &5 400 23.0 81.0(219 203 44 S-1 &K -100 29.0 75.0(173 172 5¢ O= 49 -400 25.0 79.0
180 112 3NS=  #7 400 23.0 81.0(267 276 34 S-1 #K -100 29.0 75.0(177 168 5¢ O= vK -400 250 79.0
202 262 3NS= 49 400 23.0 81.0|272 271 44 S-1 43 -100  29.0 75.0 (207 217 5¢ O= 49 -400 25.0 79.0
207 215 3NS= &5 400 23.0 81.0(280 211 44 S-1 &K -100 29.0 75.0(214 210 5¢ O= vK -400 250 79.0
210 212 3NS= &7 400 23.0 81.0| 3 17 2v 0= ¢J -110 9.0 95.0(276 269 4¢DO= vK -510 14.0 90.0
275 268 3NS= 5 400 23.0 81.0(180 112 2v O= ¢J -110 9.0 950( 7 15 5DO= vK -550 9.0 950
277 266 3NS=  #7 400 23.0 81.0|205 217 2y O= ¢J -110 9.0 950 75 72 54DO= 44 -550 9.0 95.0
278 265 3NS= &5 400 23.0 81.0|210 212 2v O= ¢J -110 9.0 95.0(205 219 5¢DO= 9 -550 9.0 95.0
272 271 2NN+1 ¥3 150 6.0 98.0(213 209 2v O= ¢J -110 9.0 95.0(206 218 5¢DO = 44 -550 9.0 950
12 8 6NN-1 ¢3 -50 2.0 102.0 (273 270 2v O= ¢5 -110 9.0 950(174 171 4¢DO+1 vK  -610 3.0 101.0
213 209 3NS-1 a2 -50 2.0 1020| 70 75 44 S-2 vQ -200 1.0 103.0 {215 209 4¢D O +1 48 -610 3.0 101.0
214 208 3NS-1 &5 -50 2.0 102.0 {107 117 44 S-2 vJ] -200 1.0 103.0|279 266 5¢DS-3 K  -800 0.0 104.0
22 4106542 Basta kontrakt 23 4 D10983 Basta kontrakt 24 & K95 Basta kontrakt
Ost v74 4v O =-620 Syd vE 34 S =140 Vast v 102 5NTV =-460
ov + E864 Alla ¢ D1073 Ingen ¢+ KD764
*EKn & ¢ v & NT +D76 & ¢ v & NT +D106 & ¢ v & NT
4EK97 - N27 26 3 4Kn742 «K6 N 4 104 9 7 4Knl03 &E87 N3 4242
vE9862 vKKn103 S26 26 3 v K96 v DKn854 S 4 104 9 7 v D94 v EK865 S34242
¢ Kn7 ¢ D53 O 106 106 9 4965 +K 08 3846 ¢ EKn83 ¢ 105 09 9 119 11
+105 #KD9874 VvV 106 106 9 *K54 #EKn1098 V 8 3 8 4 6 *K97 #EKn3 V.99 119 11
4 DKn83 4E5 4 D642
vD5 v 10732 vKn73
¢ K1092 ¢ EKn842 +92
#632 *32 #8542

Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang

7 15 5vyDV-1 42 200 1019 21| 6 64 24aDN+1 «A 870 1040 00| 78 71 3NV-1 a2 50 104.0 0.0
78 69 6y V-2 ¢A 200 101.9 21272 269 4v O-4 2 400 1020 20| 3 67 2NO+1 &2 -150 101.0 3.0

206 218 5vDV-1 «2 200 1019 21| 72 77 3v0O-2 &A 200 96.0 8.0(272 269 2N O +1 &2 -150 101.0 3.0
80 11 4v V-1 #A 100 948 92102 166 4v O-2 «A 200 96.0 8.0|102 166 2NO +2 42 -180 980 6.0
103 117 5v O-1 9 100 948 921106 116 3v V-2 T 200 96.0 8.0(177 170 INO +4 &2 -210 96.0 8.0
178 167 4v V-1 «T 100 948 921113 109 3#V-2 vA 200 96.0 8.0(206 214 3NO= &4 -400 920 120
180 110 4v V-1 45 100 948 9.21201 219 24 O-2 «A 200 96.0 8.0(266 275 3NO= 42 -400 920 120
273 272 44 N-3  v3 -150 89.7 143|206 214 3¢ N+2 #A 150 90.0 14.0|280 210 3NO= 42 -400 920 120
164 102 3y V+1 46 -170  86.7 173|178 169 3«4 N= +Q 140 87.0 17.0| 6 64 4v 0= ¢9 -420 82.0 220
264 202 3v V+1 T -170  86.7 17.3 (274 267 3«4 N= #A 140 870 170| 66 4 4vO= 9 -420 82.0 22.0
166 179 3v O+2 &3 -200 836 204174 173 3¢ N+1 #A 130 810 23.0| 79 70 4v O= 9 -420 820 220
104 116 44DN-3 #K -500 80.5 235(266 275 4¢ S= vK 130 81.0 23.0|105 117 4y O= &2 -420 820 220
279 266 44DN-3 #K  -500 80.5 235277 264 4¢ S= vK 130 81.0 23.0|167 101 4v O= ¢2 -420 82.0 22.0
14 8 4v V= ¢4 -620 63.2 40.8 (278 263 2¢ S+2 v6 130 81.0 23.0(174 173 4v O= ¢9 -420 820 220
65 3 4vV= &A 620 632 408| 79 70 3¢ S= vK 110 75.0 29.0(273 268 4y O= +9 -420 82.0 220
67 1 4vV= &#A -620 63.2 408|171 176 24 N= vQ 110 750 29.0| 1 69 3NO+1 4 -430 64.0 40.0
71 76 4v V= a2 -620 63.2 408| 1 69 4vV-1 48 100 67.0 37.0( 11 13 3NO+1 &2 -430 64.0 40.0
74 73 4y V= &A 620 632 408| 80 12 4vO-1 A 100 67.0 370 15 9 3NO+1 a2 -430 640 400
101 165 4v V= &#A -620 63.2 40.8(180 111 3v O-1 ¥3 100 67.0 37.0( 76 73 3NV +1 a5 -430 64.0 400
105 115 4v V= ¢A -620 63.2 40.8(205 215 3v O-1 +A 100 67.0 37.0(114 108 3NO+1 &4 -430 64.0 40.0
109 111 4v V= T -620 63.2 40.8(209 211 3v O-1 #3 100 67.0 37.0(180 111 3NO+1 &2 -430 640 400
173 172 4v V= &A -620 63.2 40.8(213 207 3v V-1 «T 100 67.0 37.0(209 211 3NO+1 #4 -430 64.0 400
176 169 4v V= v7 620 632 40.8| 76 73 24 0= 5 -90 60.0 44.0|212 208 3ANO +1 4 -430 64.0 40.0
177 168 4v V= &A 620 632 408 3 67 3#V= &A -110 550 490|218 202 3NO+1 2 -430 640 400
201 265 4y V= #A 620 63.2 408| 66 4 29 O= &3 -110 55.0 49.0(274 267 3NO+1 2 -430 64.0 400
208 216 4v V= ¢A 620 632 408| 78 71 2v 0= 4A -110 55.0 49.0(278 263 3NO+1 42 -430 64.0 40.0
262 204 4v V= #A 620 632 408|114 108 2#O+1 «A -110 550 490| 5 65 4v O+1 9 -450 430 61.0
278 267 4v V= ¢A 620 632 408| 11 13 2#0+2 &A -130 500 540| 68 2 4v O+1 9 -450 430 61.0

5 17 49y O+1 4Q -650 377 663 14 10 3vO= 4A -140 350 69.0| 75 74 4v O+l 2 -450 43.0 610
10 12 4v V+1 97 -650 37.7 663 15 9 3vV= vA -140 350 69.0(110 112 4y O+1 44 -450 430 61.0
13 9 4y V+l &5 -650 37.7 663 68 2 2vO+1 4A -140 350 69.0(113 109 4v O+1 +9 -450 430 61.0
75 72 4v V+1 42 -650 37.7 66.3| 75 74 3v V= ¢7 -140 350 69.0(175 172 4y O+1 46 -450 43.0 610
77 70 4v V+1 a2 -650 37.7 66.3 (165 103 3v V= 49 -140 350 69.0(201 219 4y O+1 9 -450 430 61.0

112 108 4v V+1 &2 -650 37.7 66.3 (167 101 2v O+1 #4A  -140 350 69.0(204 216 4y O+1 +9 -450 430 61.0
113 107 4v V+1 &A  -650 37.7 66.3[175 172 2v O+1 4A  -140 350 69.0|205 215 4v O+1 43 -450 43.0 610
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174 171 49 O+1 «Q -650 37.7 66.3|179 168 3v V= &6 -140 35.0 69.0(213 207 4y O+1 44 -450 43.0 61.0
215 209 4v O+1 «Q -650 37.7 66.3|203 217 3v O= &A -140 350 69.0| 14 10 3NV +2 &5 -460 21.0 83.0
274 271 49y V+1 v4 -650 37.7 66.3 (212 208 3v O= &A -140 350 69.0| 72 77 3NO+2 &2 -460 21.0 83.0
2 66 5vV+l &A -680 13.3 90.7 (271 270 2v O+1 &2 -140 35.0 69.0(104 164 3NO+2 w7 -460 21.0 83.0
4 64 4v V+2 #A -680 13.3 90.7 (273 268 2v V+1 ¢3 -140 35.0 69.0 (106 116 3NV +2 +¢6 -460 21.0 83.0
6 16 4v O+2 &2 -680 13.3 90.7 (276 265 2v O+1 &A -140 35.0 69.0(107 115 3NO+2 2 -460 21.0 83.0
79 68 4v V+2 #A -680 13.3 90.7 (280 210 2v O+1 &A -140 35.0 69.0(165 103 3NV +2 ¢K -460 21.0 83.0
106 114 4v V+2 &A -680 13.3 90.7 7 17 3v O+1 &A -170  14.0 90.0 (171 176 3NO+2 ¥5 -460 21.0 83.0
170 175 4v V+2 45 -680 13.3 90.7 8 16 3v O+1 &A -170 14.0 90.0 (178 169 3NO+2 &8 -460 21.0 83.0
205 219 4v V+2 &A -680 13.3 90.7 [105 117 2v O +2 &A -170 14.0 90.0 (203 217 3NO+2 2 -460 21.0 83.0
207 217 4v V+2 &A -680 13.3 90.7 ({107 115 3v O+1 4A -170 14.0 90.0 (271 270 3NV +2 ¢4 -460 21.0 83.0
211 213 4v V+2 #A -680 13.3 90.7 (177 170 3v O+1 4A -170  14.0 90.0 (276 265 3NV +2 45 -460 21.0 83.0
214 210 4v V+2 &A -680 13.3 90.7 (218 202 2v O +2 &A -170 14.0 90.0 (277 264 3NV +2 &6 -460 21.0 83.0
268 277 4v V+2 &A -680 13.3 90.7 (262 279 2v O +2 &A -170 140 90.0| 8 16 4v V+2 ¢K -480 8.0 96.0
275 270 5v V+1 &A -680 13.3 90.7 (110 112 4¢ N-2 v4 -200 50 99.0( 80 12 3NV+3 ¢K -490 5.0 99.0
276 269 4v V+2 &A -680 13.3 90.7 (204 216 3NS-2 ¥9 -200 5.0 99.0(179 168 3NO+3 44 -490 5.0 99.0
280 212 5v V+1 &A -680 13.3 90.7 5 65 4¢DS-2 v6 -500 2.0 102.0 (262 279 2¢DN-3 ¢K -500 2.0 102.0
203 263 A+/A+ 624 624|104 164 4v O= &A -620 0.0 1040| 7 17 2#DS-5 4J -1100 0.0 104.0
25 4 E9763 Basta kontrakt 26 476 Basta kontrakt 27 4 EDKn10 Basta kontrakt
Nord v8 34 N =140 Ost vE54 6v O =-1430 Syd v KKn2 54 SD-1-100
ov + Kn85 Alla + KDKn83 Ingen *+K
#ED104 & ¢ v & NT #943 & ¢ v & NT #D10865 & ¢ v & NT
4102 4 854 N9 75965 « EK98 «D4 N34131 a2 464 N 112 2 104
v EKKn10532 vD S975965 vDKn10987 vK2 S34131 v E1095 vD7643 S 112 2 104
*7 ¢ED10942 O 3 6 8 3 4 ¢E ¢ 976542 O 108 12109 ¢+ D10987542 ¢ EKn6 O1 11112 2
*K63 987 V 36834 #K10 #ED6 V 108 12109 »- K94 vV 111112 2
&« KDKn 4 Kn10532 & K98753
v 9764 v 63 v8
+ K63 + 10 +3
#Kn52 #Kn8752 #EKn732
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
117 113 4¢vDO-3 4A 800 104.0 0.0(278 271 24 V+1 ©vA -140 1040 00| 17 11 64 S= ¢+Q 980 104.0 0.0
2 70 4¢vDV-2 v8 500 102.0 2.0(106 170 2v V+2 ¢K -170 102.0 20| 78 75 54DS= 5 650 102.0 2.0
277 272 44 N+1 vQ 450 100.0 4.0( 15 11 1y V+4 a7 -200 1000 40| 70 4 6vDO-3 &#A 500 100.0 4.0
8 64 44 N= vQ 420 96.0 80| 12 14 3v V+3 a7 -230 93.0 11.0| 13 15 54 S+1 9 480 94.0 10.0
80 13 44 N= vQ 420 96.0 80| 69 3 2vV+4 oK 230 930 110| 68 6 44 S+2 9 480 94.0 10.0
106 170 44 N= ¢A 420 96.0 80| 80 13 2vV+4 oK -230  93.0 11.0(173 178 54 S+1 vA 480 94.0 10.0
110 166 5v V-3 5 300 92.0 12.0 (109 167 2v V+4 ¢K -230 93.0 11.0(214 216 44 S+2 9 480 94.0 10.0
103 173 4v V-2 «A 200 87.0 17.0|208 262 3v O+3 K -230 93.0 11.0(265 207 44 S+2 T 480 94.0 10.0
104 172 4v V-2 «A 200 87.0 17.0(277 272 2v O+4 ¢ 230 93.0 110 2 72 44 S+1 8 450 67.0 37.0
209 219 4v V-2 &A 200 87.0 17.0(175 101 3NO= T -600 85.0 19.0| 5 69 54 S= vA 450 67.0 37.0
280 214 4v V-2 «A 200 87.0 17.0(205 265 3NO= T -600 85.0 19.0 (102 170 44 S+1 <vA 450 67.0 37.0
6 66 34 N+1 &9 170 75.0 29.0|207 263 4v V+1 +¢K -650 82.0 22.0|106 166 54 S = ¢T 450 67.0 37.0
109 167 34 N+1 vQ 170 75.0 29.0|201 269 3NV+2 +¢K -660 79.0 25.0|107 165 54 S= vA 450 67.0 37.0
111 165 24 N+2 vQ 170 75.0 29.0(202 268 3NV +2 K -660 79.0 25.0(109 117 44 S+1 <vA 450 67.0 37.0
171 105 34 N+1 vQ 170 75.0 29.0 1 71 4v V+2 +K -680 48.0 56.0(116 110 44 S+1 vA 450 67.0 37.0
175 101 34 N+1 vQ 170 75.0 29.0| 2 70 4vV+2 ¢K -680 48.0 56.0 (176 175 54 S= ¢T 450 67.0 37.0
179 176 34 N+1 ¢Q 170 750 29.0|] 6 66 4vV+2 +¢K -680 48.0 56.0 (179 172 44 N+1 ¢A 450 67.0 37.0
208 262 34 N+1 vQ 170 75.0 29.0| 7 65 4y V+2 46 -680 48.0 56.0 (180 113 54 S= ¢+Q 450 67.0 37.0
217 211 34 N+1 &9 170 75.0 29.0| 8 64 4vV+2 +¢K -680 48.0 56.0 (202 270 54 S= ¢T 450 67.0 37.0
1 71 3« N= vQ 140 61.0 43.0| 9 17 4v V+2 ¢K -680 48.0 56.0 (203 269 44 S+1 vA 450 67.0 37.0
164 112 24 N+1 vQ 140 61.0 43.0| 16 10 4v V+2 +¢K -680 48.0 56.0 (204 268 54 S = vA 450 67.0 37.0
180 115 34 N= ¢Q 140 61.0 43.0| 73 78 4v V+2 49 -680 48.0 56.0 (208 264 44 S+1 ¢Q 450 67.0 37.0
201 269 34 N= vQ 140 61.0 43.0| 79 72 4y V+2 +K -680 48.0 56.0 (210 262 54 S = vA 450 67.0 37.0
205 265 34 N= vQ 140 61.0 43.0|102 174 4v V+2 +¢K -680 48.0 56.0 (211 219 44 S+1 4 450 67.0 37.0
207 263 34 N= ¢Q 140 61.0 43.0|103 173 5v V+1 +¢K -680 48.0 56.0 (217 213 44 S+1 ¢9 450 67.0 37.0
16 10 4v V-1 «A 100 47.0 57.0(104 172 4v V+2 ¢J -680 48.0 56.0 (267 205 44 S+1 8 450 67.0 37.0
69 3 3vV-l1 ¢5 100 47.0 57.0(108 168 4v V+2 ¢K -680 48.0 56.0 (276 275 44 S+1 ¢Q 450 67.0 37.0
73 78 4v V-1 #A 100 47.0 57.0 (110 166 4v V+2 ¢K -680 48.0 56.0 (277 274 44 S+1 7 450 67.0 37.0
77 74 4v V-1 43 100 47.0 57.0 (111 165 4y V+2 &7 -680 48.0 56.0 (278 273 54 S = ¢7 450 67.0 37.0
79 72 4v V-1 A 100 47.0 57.0(114 116 5v V+1 8 -680 48.0 56.0 (279 272 44 S+1 2 450 67.0 37.0
108 168 4v V-1 «A 100 47.0 57.0(117 113 4v V+2 +Q -680 480 56.0|115 111 64DV -2 A 300 43.0 61.0
178 177 5v V-1 «A 100 47.0 57.0(164 112 4v V+2 +K -680 48.0 56.0(169 103 64DV -2 4A 300 43.0 61.0
278 271 3v V-1 «A 100 47.0 57.0(169 107 4y V+2 &7 -680 48.0 56.0| 74 79 34 S+ vA 230 40.0 64.0
67 5 3aN-1 ¢vQ -50 35.0 69.0|171 105 4v V+2 +¢K -680 48.0 56.0| 9 65 64DV-1 4A 100 36.0 68.0
264 206 34 N-1 vQ -50 35.0 69.0|178 177 4v V+2 +¢K -680 48.0 56.0| 10 64 6¢DV-1 4A 100 36.0 68.0
275 274 34 N-1  +Q -50 35.0 69.0|179 176 4v V+2 +¢K -680 48.0 56.0(271 201 5¢vDO-1 &#A 100 36.0 68.0
276 273 44 N-1 +Q -50 35.0 69.0|180 115 4v V+2 +¢K -680 48.0 56.0 1 73 5¢ V-1 aA 50 31.0 73.0
12 14 44 N-2 vQ -100 24.0 80.0(210 218 4y V+2 &7 -680 48.0 56.0| 8 66 5¢ V-1 &A 50 31.0 73.0
15 11 44 N-2 vQ -100 24.0 80.0(216 212 4v V+2 +K -680 48.0 56.0| 7 67 54 S-1 YA -50 25.0 79.0
102 174 44 N-2 vQ -100 24.0 80.0|217 211 4y V+2 &7 -680 48.0 56.0 (167 105 54 S-1 48 -50 25.0 79.0
114 116 44 N-2 vQ -100 24.0 80.0|270 279 4v V+2 ¢Q -680 48.0 56.0(206 266 54 S-1 YA -50 25.0 79.0
210 218 44 N-2 +A -100 24.0 80.0(275 274 4v V+2 +K -680 48.0 56.0 (209 263 44 N-1 v6 -50 25.0 79.0
216 212 44 N-2 vQ -100 24.0 80.0(280 214 4v V+2 ¢K -680 48.0 56.0| 77 76 54 S-2 ¢Q -100 18.0 86.0
266 204 44 N-2 vQ -100 240 80.0| 4 68 3NO+3 #8 -690 13.0 91.0| 80 14 54 S-2 YA -100 18.0 86.0
169 107 3v V= +5 -140 140 90.0| 67 5 3NO+3 &) -690 13.0 91.0(177 174 54DS-1 T -100 18.0 86.0
202 268 2y V+1 +8 -140 14.0 90.0| 76 75 3NO+3 43 -690 13.0 91.0(108 164 54DS-2 vA -300 13.0 91.0
270 279 3v V= *7 -140 140 90.0| 77 74 3NO+3 42 -690 13.0 91.0(218 212 54DS-2 vA -300 13.0 91.0
7 65 44 N-3 vQ -150 8.0 96.0(213 215 3NO+3 2 -690 13.0 910 3 71 5¢ V= &6 -400 9.0 95.0
76 75 44 N-3 vQ -150 8.0 96.0(264 206 3N O +3 &5 -690 13.0 91.0(112 114 5¢ O= &2 -400 9.0 95.0
203 267 2NS-3 vA -150 8.0 96.0(203 267 6v V= ¢K -1430 3.0 101.0 (101 171 5 O= ¢3 -450 6.0 98.0
9 17 44DN-2 vQ -300 3.0 101.0 (209 219 6v V= &7 -1430 3.0 101.0 (280 215 4v O+2 +3 -480 4.0 100.0
213 215 44DN-2 vQ  -300 3.0 101.0 {266 204 6% V = ¢+K -1430 3.0 101.0| 16 12 5¢DV= &) -550 1.0 103.0
4 68 4y V= &A -620 0.0 104.0 (276 273 6v V= ¢K -1430 3.0 101.0 {104 168 5¢DV = +¢K -550 1.0 103.0
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28 443 Basta kontrakt 29 4 D10765 Basta kontrakt 30 4 Kn976 Basta kontrakt
Vast v E8732 ANT N =630 Nord v EKKn743 6¢ O D-2500 Ost v 1032 ANT V =-430
NS + EKKn10 Alla ¢- Ingen + 1075
&EK & ¢ v & NT K7 & ¢ v & NT #K103 & ¢ v & NT
4108652 D7 N 1110109 10 4 E92 & Kn83 N9 3 118 4 4D « E10543 N2 2333
vKnl109 vKD5 S 1110109 10 v D98 v6 S 9 3 118 4 vED94 vKn5 S22333
4963 ¢ D852 022232 ¢+ EDKn6 ¢K975432 O 4 102 4 7 ¢ EKD8 ¢ Kn64 O 11119 9 9
&Kn8 £10976 V22232 &Kn42  #E3 V 4 102 5 9 #ED65 #987 V 11109 1010
& EKKn9 s K4 & K82
v 64 v 1052 v K876
*74 +108 4932
#D5432 #D109865 #Kn42
Par Kontr ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
106 166 6% S = «5 1370 1040 0.0 64 12 4v N+1 A 650 102.0 2.0|209 217 6NV-3 +2 150 103.0 1.0
10 64 3NN+3 &T 690 93.0 11.0| 75 1 4vN+1 ¢K 650 102.0 2.0|276 271 6NV -3 46 150 103.0 1.0
17 11 3NN+3 5 690 93.0 11.0(279 268 4v N+1 #A 650 102.0 2.0|265 203 44 O-2 v2 100 100.0 4.0
74 79 3NS+3 ¢9 690 93.0 11.0| 17 13 4v N= #A 620 90.0 14.0 (107 167 4¢ O-1 3 50 98.0 6.0
102 170 3NN +3 &6 690 93.0 11.0| 69 7 4v N= &5 620 90.0 14.0|109 165 3¢ O+2 v6 -150 96.0 8.0
112 114 3NN+3 &T 690 93.0 11.0| 79 76 4vN= ¢4 620 90.0 14.0 2 74 3NV= v2 -400 66.0 38.0
176 175 3NS+3 &5 690 93.0 11.0|107 167 4v N= #A 620 90.0 14.0 3 73 3NV= 46 -400 66.0 38.0
204 268 3NS+3 &8 690 93.0 11.0|109 165 4v N= #A 620 90.0 14.0 6 70 3NV= v2 -400 66.0 38.0
217 213 3NN+3 2 690 93.0 11.0(206 262 4v N= ¢K 620 90.0 14.0 8 68 3NV= *T -400 66.0 38.0
267 205 3NN+3 &T 690 93.0 11.0(212 214 4v N= #A 620 90.0 14.0 9 67 3NV= 46 -400 66.0 38.0
279 272 3NN+3 ¢5 690 93.0 11.0|215 211 4v N= #A 620 90.0 140| 69 7 3NV= v2 -400 66.0 38.0
9 65 3NS+2 &J 660 75.0 29.0(280 213 4v N= #A 620 90.0 140( 71 5 3NV= a7 -400 66.0 38.0
104 168 3NS+2 &3 660 75.0 29.0|101 173 64D O-2 4K 500 79.0 250 75 1 3NV= a7 -400 66.0 38.0
115 111 3NS+2 &J 660 75.0 29.0(102 172 5¢DO-2 ¢8 500 79.0 25.0( 78 77 3NV= +5 -400 66.0 38.0
116 110 3NN+2 &T 660 75.0 29.0 3 73 5¢ 0-2 T 200 710 33.0| 79 76 3NV= 46 -400 66.0 38.0
206 266 3NN+2 2 660 75.0 29.0| 80 15 5¢ O-2 v2 200 71.0 33.0(101 173 3NV = *T -400 66.0 38.0
209 263 3NN+2 5 660 75.0 29.0(180 114 5¢ O-2 v2 200 71.0 33.0(102 172 3NV = +5 -400 66.0 38.0
265 207 3NN+2 #6 660 75.0 29.0(263 205 5¢ O-2 v2 200 71.0 33.0|103 171 3NV = a7 -400 66.0 38.0
276 275 3NN+2 2 660 75.0 29.0|265 203 5¢ O-2 T 200 71.0 33.0(105 169 3NV = &3 -400 66.0 38.0
1 73 3NS+1 &5 630 440 60.0(275 272 5¢ O-2 &5 200 71.0 33.0(108 166 3NV = a7 -400 66.0 38.0
3 71 3NS+1 42 630 440 60.0 (177 176 3v N+1 #A 170 64.0 40.0(110 164 3NV = v2 -400 66.0 38.0
5 69 3NS+1 42 630 440 60.0 6 70 3y N= &A 140 61.0 43.0(116 112 3NO= v¥6 -400 66.0 38.0
7 67 3NS+1 46 630 44.0 60.0(269 278 2v N+1 &A 140 61.0 43.0(117 111 3NV= *7 -400 66.0 38.0
8 66 3NN+1 &9 630 440 60.0| 14 16 5¢ O-1 T 100 51.0 53.0(177 176 3NV = v2 -400 66.0 38.0
16 12 3NS+1 #J 630 440 60.0 (103 171 5¢ O-1 &K 100 51.0 53.0|178 175 3NV = *T -400 66.0 38.0
68 6 3NN+1 #T 630 44.0 60.0|105 169 5¢ O-1 T 100 51.0 53.0|201 267 3NV= v2 -400 66.0 38.0
70 4 3NN+1 2 630 44.0 60.0|110 164 5¢ O-1 T 100 51.0 53.0(204 264 3NV = *7 -400 66.0 38.0
80 14 3NN+1 &T 630 44.0 60.0 (204 264 4¢ O-1 &K 100 51.0 53.0|207 219 3NV= 46 -400 66.0 38.0
101 171 3NS+1 &#J 630 44.0 60.0|208 218 4¢ O-1 v2 100 51.0 53.0|212 214 3NV= +5 -400 66.0 38.0
107 165 3NN+1 &6 630 44.0 60.0|276 271 5¢ O-1 #9 100 51.0 53.0(215 211 3NV= a7 -400 66.0 38.0
109 117 3NS+1 &#J 630 440 60.0|277 270 5¢ O-1 &K 100 51.0 53.0|216 210 3NV= +5 -400 66.0 38.0
173 178 3NS+1 &#J 630 44.0 60.0 2 74 4v N-1 &A -100 31.0 73.0|263 205 3NV= vT -400 66.0 38.0
179 172 3NS+1 9 630 440 600 4 72 5v N-1 #A -100  31.0 73.0|277 270 3NV = 46 -400 66.0 38.0
180 113 3NN+1 ¢2 630 440 60.0 8 68 34 N-1 &A -100  31.0 73.0(279 268 3NV = a7 -400 66.0 38.0
202 270 3NS+1 9 630 44.0 60.0 9 67 5¢ N-1 &A -100  31.0 73.0(174 179 4v O= v6 -420 35.0 69.0
210 262 3NS+1 &J 630 440 60.0| 10 66 4v N-1 #A -100 31.0 73.0(202 266 44 O= v7 -420 35.0 69.0
214 216 3NS+1 &J 630 440 60.0| 78 77 4v N-1 #A -100 310 73.0| 10 66 3NV+1l a7 -430 23.0 81.0
218 212 3NS+1 &2 630 440 60.0|113 115 4v N-1 #A -100 31.0 73.0| 11 65 3NV+1 «T -430 23.0 81.0
271 201 3NN+1 &T 630 440 60.0 (116 112 4v N-1 ¢4 -100 31.0 73.0| 64 12 3NV +1 46 -430 23.0 81.0
277 274 3NN+1 &T 630 440 60.0(174 179 5v N-1 #A -100 31.0 73.0|113 115 3NV +1l 6 -430 23.0 81.0
278 273 3NN+1 &T 630 440 60.0|178 175 4v N-1 #A -100 31.0 73.0|168 106 3NV +1 &3 -430 23.0 81.0
280 215 3NS+1 vJ 630 44,0 60.0 (207 219 4v N-1 #A -100 31.0 73.0(170 104 3NV +1 46 -430 23.0 81.0
78 75 4v N= #7 620 19.0 85.0(216 210 5v N-1 &A -100 31.0 73.0|180 114 3NV +1l &7 -430 23.0 81.0
177 174 4v N= &T 620 19.0 85.0| 71 5 4e¢ V= v2 -130 16.0 88.0|208 218 3NV +1 46 -430 23.0 81.0
2 72 3NS= 45 600 11.0 93.0(170 104 4¢ O= %6 -130 16.0 88.0(274 273 3NV +1 46 -430 23.0 81.0
13 15 3NS= vJ 600 11.0 93.0|209 217 4¢ O= &K -130 16.0 88.0(275 272 3NV +1 46 -430 23.0 81.0
108 164 3N S= 42 600 11.0 93.0(108 166 3¢ O+2 v2 -150 11.0 93.0| 4 72 3NV+2 &3 -460 8.0 96.0
169 103 3N S= 42 600 11.0 93.0|202 266 3¢ O+2 T -150 11.0 93.0| 14 16 3NV +2 46 -460 8.0 96.0
203 269 3NS= 42 600 11.0 93.0 (117 111 4vDN-1 %A -200 70 97.0| 80 15 3NV+2 ¥2 -460 8.0 96.0
211 219 3NS= vJ 600 11.0 93.0 (201 267 4vDN-1 #A -200 7.0 97.0|206 262 3NV +2 ¥2 -460 8.0 96.0
167 105 INN+1 &6 120 4.0 100. 11 65 4v N-3 &A -300 4.0 100.0 |269 278 3NV +2 &3 -460 8.0 96.0
77 76 6NS-2 &5 -200 1.0 103.0 (168 106 5vDN-2 #A -500 2.0 1020 17 13 3NV+3 ¢5 -490 1.0 103.0
208 264 6NS-2 8 -200 1.0 103.0 (274 273 3NV = vK -600 0.0 104.0|280 213 3NO+3 ¥6 -490 1.0 103.0
31 4« DKn64 Bésta kontrakt 32 4 DKn Bésta kontrakt 33 & EKn975 Bésta kontrakt
Syd vE52 34 V =-140 Vast vE74 44 N =130 Nord v EK3 5¢ N =400
NS ¢ K1052 ov + KKn432 Ingen + E96
«D9 & ¢ v & NT #E103 & ¢ v & NT »D6 & ¢ v & NT
4E108752 &K N3 6434 4 K9752 4 E3 N 108 4 7 7 4 K1083 642 N 11119 9 9
v K10 vD8763 S 36434 vD9 vKKn108532 S 108 4 7 7 v 852 v DKn94 S 10109 9 9
4976 ¢E3 097 9 98 ¢ E1097 ¢85 03596 4 +Kn82 ¢K74 022433
&Kn2 &#EK765 V979 938 &Kn9 42 V35964 &#K32 #Kn109 V234414
493 410864 4D
v Kn94 v6 v 1076
+ DKn84 + D6 + D1053
#10843 #KD8765 #E8754
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
174 108 44DV -2 &5 300 1040 0.0|279 276 34DV-5 &A 1400 1040 00| 16 64 3NN+2 #J 460 100.0 4.0
113 169 3NO-4 +Q 200 101.0 3.0 10 68 3NN+2 #4 460 102.0 2.0(180 116 3NS+2 &3 460 100.0 4.0
279 276 3NO-4 +Q 200 101.0 3.0|262 214 3NN+1 +8 430 100.0 4.0|206 272 3NS+2 &3 460 100.0 4.0
1 77 3NO-3 +8 150 970 70| 64 14 5#S= ¢+A 400 96.0 8.0(209 269 3NN+2 #J 460 100.0 4.0
201 275 3NO-3 ¢J 150 97.0 70| 65 13 3NN= v5 400 96.0 8.0(279 278 3NS+2 43 460 100.0 4.0
11 67 3NO-2 ¢4 100 81.0 23.0|103 179 3NN= vJ 400 96.0 8.0|111 167 3NS+1 48 430 91.0 13.0
12 66 3vV-2 «Q 100 81.0 23.0|111 171 4 S+1 vQ 150 90.0 14.0(176 102 3NS+1 #2 430 91.0 13.0
70 8 44 V-2 #Q 100 81.0 23.0|112 170 4 S+1 +7 150 90.0 14.0(217 219 3NS+1 ¢2 430 91.0 13.0
76 2 3NO-2 6 100 81.0 23.0(208 268 4# S+1 ¢A 150 90.0 14.0(270 208 3NS+1 &3 430 91.0 13.0
103 179 2NO-2 +Q 100 81.0 23.0 1 77 44S= vQ 130 77.0 27.0 1 79 3NS= 43 400 81.0 23.0
109 173 44 V-2 #Q 100 81.0 230| 3 75 44 S-= vQ 130 77.0 27.0| 11 69 3NS= ¢2 400 81.0 23.0
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112 170 4v O-2 +Q 100 810 23.0| 12 66 3#S+1 vQ 130 770 27.0| 65 15 3NS= v8 400 81.0 23.0
114 168 44 V-2 5 100 810 23.0| 72 6 3#S+1 vQ 130 77.0 27.0|112 166 3NN= ¥4 400 81.0 23.0
167 115 44 V-2 vA 100 810 230| 80 16 3#S+1 vQ 130 77.0 27.0(164 114 3NS= 8 400 81.0 23.0
178 104 3NO-2 +Q 100 81.0 23.0(109 173 3#S+1 vQ 130 77.0 27.0|262 216 3NS= ¢2 400 81.0 23.0
202 274 3NO-2 +8 100 81.0 23.0(114 168 4# S= vQ 130 77.0 27.0|212 266 2NS+3 43 210 74.0 30.0
204 272 2NO-2 +Q 100 81.0 23.0(180 164 44 S= vQ 130 770 27.0| 73 7 2NS+2 &2 180 72.0 32.0
267 209 44 O-2 ¢Q 100 81.0 23.0(202 274 4# S= vQ 130 770 27.0| 13 67 2NS+1 &2 150 67.0 37.0
278 277 44 O-2 ¢Q 100 81.0 23.0(210 266 4# S= vQ 130 77.0 27.0|105 173 INS+2 8 150 67.0 37.0
5 73 44 V-1 ©vA 50 56.0 48.0|166 116 INN+1 «T 120 66.0 38.0|203 275 2¢ N+3 v4 150 67.0 37.0
7 71 44 V-1 #Q 50 56.0 48.0| 11 67 4v O-1 +Q 100 62.0 42.0(205 273 3¢ N+2 #J 150 67.0 37.0
9 69 3NO-1 ¥4 50 56.0 480 70 8 24 V-1 #A 100 62.0 42.0| 66 14 14 N+2 #J 140 61.0 43.0
10 68 44 V-1 ©vA 50 56.0 48.0|216 218 24 V-1 +2 100 62.0 42.0|170 108 14 N+2 v9 140 61.0 43.0
72 6 44 V-1 ©vA 50 56.0 480 7 71 3NN-1 5 -50 54.0 50.0| 4 76 2#N+2 ¢4 130 58.0 46.0
79 78 44 V-1 ©vA 50 56.0 480| 76 2 5#S-1 vQ -50 54.0 50.0|165 113 2N S= v8 120 54.0 50.0
80 16 24 O-1 8 50 56.0 48.0(113 169 5#S-1 vQ -50 54.0 50.0|179 178 2N S = 8 120 54.0 50.0
102 101 4¢v O-1 +Q 50 56.0 48.0(201 275 3NN-1 vK -50 54.0 50.0|280 218 2N S = 3 120 54.0 50.0
216 218 34 V-1 +5 50 56.0 48.0 (267 209 3¢ N-1 &A -50 54.0 50.0|172 106 3% S= +J 110 50.0 54.0
219 215 3NO-1 ¢Q 50 56.0 480 9 69 3NN-2 T -100 420 620 2 78 3NS-1 ¥5 -50 30.0 74.0
269 207 3vO-1 ¢Q 50 56.0 48.0| 15 17 3¢ N-2 #4 -100 420 620 5 75 3NS-1 2 -50 30.0 74.0
273 203 24 O = 49 -90 44.0 60.0|107 175 2NN-2 vJ -100 420 620 6 74 3NS-1 v2 -50 30.0 74.0
65 13 24 V= +5 -110 35.0 69.0(174 108 3NN-2 ¥5 -100 420 620 8 72 2NS-1 +8 -50 30.0 74.0
106 176 24 V= v3 -110 35.0 69.0 (204 272 44 S-2 ¥9 -100 420 620| 10 70 3NS-1 2 -50 30.0 74.0
107 175 24 V= #Q -110 350 69.0|205 271 3NN-2 v6 -100 42.0 620| 12 68 3NS-1 ¢8 -50 30.0 74.0
166 116 24 V= 2 -110 35.0 69.0 (280 217 3¢ N-2 &4 -100 420 620| 71 9 2NS-1 +8 -50 30.0 74.0
208 268 24 V= &9 -110 35.0 69.0(212 264 2+ O= ¢Q -110 340 70.0| 80 17 3NN-1 vQ -50 30.0 74.0
211 265 24 O= &T -110 350 690 4 74 3vO= &K -140 25.0 79.0(101 177 3NS-1 +8 -50 30.0 74.0
262 214 24 V= *T -110 35.0 69.0(106 176 3v O= &K -140 25.0 79.0(103 175 3NS-1 ¥5 -50 30.0 74.0
280 217 24 O= &3 -110 35.0 69.0|167 115 3vy O= ¢Q -140 250 79.0|104 174 3NS-1 3 -50 30.0 74.0
3 75 34 V= v2 -140 18.0 86.0(172 110 2v O+1 ¢Q -140 250 79.0(107 171 3NN-1 +Q -50 30.0 74.0
4 74 34 V= vA -140 18.0 86.0|206 270 3vy O= ¢Q -140 250 79.0|109 169 3NS-1 43 -50 30.0 74.0
64 14 24 V+1 #Q -140 18.0 86.0|211 265 3vy O= &K -140 25.0 79.0(115 117 3NS-1 ¥5 -50 30.0 74.0
117 165 24 V+1 #Q -140 18.0 86.0(213 263 3v O= +¢6 -140 25.0 79.0(201 277 3NS-1 &2 -50 30.0 74.0
172 110 24 V+1 &9 -140 18.0 86.0|273 203 2v O+1 ¢Q -140 250 79.0|202 276 3NS-1 8 -50 30.0 74.0
180 164 24 V+1 #Q -140 18.0 86.0|219 215 6NN-3 &6 -150 16.0 88.0(214 264 3NS-1 43 -50 30.0 74.0
205 271 3v O= ¢4 -140 180 860 5 73 2v0O+2 ¢Q -170 11.0 93.0(268 210 3NS-1 +8 -50 30.0 74.0
206 270 34 O= &4 -140 18.0 86.0(102 101 2v O+2 ¢Q -170 11.0 93.0(274 204 3NN-1 ¢Q -50 30.0 74.0
212 264 3v O= &K -140 18.0 86.0|105 177 2¢v O+2 ¢Q -170 11.0 93.0| 77 3 3NS-2 8 -100 6.0 98.0
15 17 24 V42 ©vA -170 7.0 97.0(269 207 3v O+1 &K -170  11.0 93.0(110 168 3NS-2 v2 -100 6.0 98.0
213 263 2v O+2 8 -170 7.0 97.0(178 104 44 S-4 vQ -200 6.0 98.0(207 271 3NS-2 #2 -100 6.0 98.0
210 266 3NO= 49 -400 4.0 100.0| 79 78 4v O= &K -620 3.0 101.0 ({211 267 3NS-2 2 -100 6.0 98.0
111 171 49 O= ¢Q  -420 2.0 102.0 (278 277 4v O= &K -620 3.0 101.0 (213 265 3NS-2 +8 -100 6.0 98.0
105 177 24DN-4 &A -1100 0.0 104.0 (117 165 3vyDO= #Q -730 0.0 104.0 (263 215 3NS-3 48 -150 0.0 104.0
34 4 8652 Basta kontrakt 35 & DKn7 Basta kontrakt 36 4 K8 Basta kontrakt
Ost v E9654 5¢ O D-3500 Syd vE103 6¢ S =920 Vast v KDKn64 3v N =140
NS + K8 oV 49432 Alla + E63
+D2 & ¢ v & NT #EKn5 & ¢ v & NT #1072 & ¢ v & NT
& Kn 410974 N85 6 107 4 842 4109653 N 11126 7 8 4 E75 « D104 N4 4976
vKn1083  vKD2 S 85 6 107 vKD854 vKn976 S 11126 7 8 vE10 v32 S 44976
+ EDKn953 ¢ 104 048535 + K ¢+ D76 02176 2 ¢ D9842 ¢ KKn75 079456
«54 #E863 V48535 #K1062 #3 V217862 #653 #KDKn4 V794586
4 EKD3 4 EK & Kn9632
v7 v2 v 9875
¢ 762 + EKn1085 + 10
#KKn1097 »D9874 #E98
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
164 114 44 S+1 5 650 1040 00| 6 76 3vDV-3 4Q 800 104.0 0.0(210 264 4v N= +K 620 103.0 1.0
1 79 44 S= &5 620 97.0 7.0|112 168 5¢DS= vK 550 102.0 2.0(277 276 4v N= &K 620 103.0 1.0
8 72 44 S= v3 620 97.0 7.0(177 103 3vDV-2 ¢2 500 100.0 4.0(102 178 3v N+2 ¥3 200 100.0 4.0
12 68 44 S= vJ 620 97.0 7.0(104 176 3NN+2 &5 460 970 70| 78 4 3v N+l +5 170 97.0 7.0
16 64 44 S= ¢A 620 97.0 7.0(201 273 3NN+2 &8 460 97.0 7.0(272 202 3v N+1 &K 170 970 7.0
103 175 44 S= ¢A 620 97.0 7.0(215 217 3NN+1 v7 430 910 130 5 77 3vN= «#K 140 68.0 36.0
201 277 44 N= T 620 97.0 7.0(219 213 3NN+1 &5 430 910 130 6 76 3vN= ¢7 140 68.0 36.0
274 204 3NN= T 600 90.0 14.0(277 276 3NN+1 v6 430 910 130 9 73 3vN= ¢K 140 68.0 36.0
80 17 3vV-4 &5 200 88.0 16.0(279 274 3NN+1 vJ 430 910 13.0| 13 69 3v N= #K 140 68.0 36.0
2 78 24 S+2 &5 170 740 30.0| 2 1 5¢S+1 vK 420 85.0 19.0| 66 16 3v N= ¢7 140 68.0 36.0
6 74 24 S+2 vJ 170 740 30.0| 72 10 5¢ S+1 vQ 420 85.0 19.0| 67 15 3v N= «#K 140 68.0 36.0
10 70 34 S+1 ¢A 170 740 30.0| 3 79 5¢ N= &3 400 720 320| 72 10 2v N+1 &K 140 68.0 36.0
65 15 34 S+1 vJ 170 740 30.0| 7 75 5¢ S= vK 400 720 320| 74 8 2v N+1 &K 140 68.0 36.0
66 14 24 S+2 ¢A 170 740 30.0| 9 73 5¢ S= 44 400 720 32.0| 80 64 2v N+1 &K 140 68.0 36.0
115 117 24 S+2 «J 170 740 30.0| 11 71 3NN= 43 400 72.0 32.0|101 179 3v N= &K 140 68.0 36.0
165 113 34 S+1 ¢J 170 740 30.0| 17 65 5¢ S= vK 400 72.0 32.0|108 172 3v N= &K 140 68.0 36.0
172 106 34 S+1 ¢A 170 740 30.0|101 179 3NN= v7 400 72.0 32.0|110 170 2v N+1 &K 140 68.0 36.0
180 116 34 S+1 vJ 170 740 30.0|113 167 3NN= v6 400 72.0 32.0|111 169 2v N+1 &K 140 68.0 36.0
203 275 24 S+2 ¢A 170 74.0 30.0|207 267 3NN= T 400 72.0 32.0|112 168 3v N= &K 140 68.0 36.0
209 269 24 S+2 ¢A 170 740 30.0|211 263 3NN= 43 400 72.0 32.0|113 167 2v N+1 #J 140 68.0 36.0
262 216 34 S+1 &5 170 74.0 30.0|268 206 5¢ S= vK 400 72.0 32.0|116 164 2v N+1 &K 140 68.0 36.0
270 208 34 S+1 ¢A 170 74.0 30.0|272 202 3NN= v7 400 72.0 32.0|166 114 2v N+1 &K 140 68.0 36.0
104 174 INN+2 5 150 59.0 45.0(110 170 3v V-3 #A 300 59.0 45.0(171 109 3v N= «#K 140 68.0 36.0
202 276 4¢ V-3 vA 150 59.0 45.0(166 114 4v V-3 #A 300 59.0 45.0|180 117 3v N= #Q 140 68.0 36.0
110 168 34 S= vJ 140 520 52.0| 67 15 2¢ S+4 &6 170 55.0 49.0(203 271 2v N+1 #K 140 68.0 36.0
170 108 3« S = ¢A 140 52.0 52.0(171 109 2¢ S+4 vK 170 55.0 49.0|204 270 3y N= +5 140 68.0 36.0
212 266 24 S+1 ¢A 140 52.0 52.0(108 172 3¢ S+2 &8 150 51.0 53.0|205 269 2v N+1 &J 140 68.0 36.0
214 264 24 S+1 vJ 140 52.0 52.0(212 262 3¢ S+2 vK 150 51.0 53.0(207 267 3v N= #K 140 68.0 36.0
280 218 34 S= vJ 140 520 520 66 16 4¢ S= vK 130 46.0 58.0(209 265 3v N= «#K 140 68.0 36.0
207 271 24 N+1 «J 110 46.0 580 78 4 3¢ S+1 vK 130 46.0 58.0(212 262 3v N= #K 140 68.0 36.0
279 278 3¢ V-2 vA 100 44.0 60.0 (205 269 3¢ S+1 vK 130 46.0 58.0 (278 275 2v N+1 &K 140 68.0 36.0
217 219 24 S= &) 90 42.0 62.0(173 107 2NN= vJ 120 42.0 62.0(279 274 2v N+1 &K 140 68.0 36.0
112 166 3¢ V-1 #Q 50 380 660 5 77 5¢S-1 vK -50 29.0 75.0|218 214 2v N= &K 110 39.0 65.0
176 102 3¢ V-1 #Q 50 380 66.0| 12 70 5¢ S-1 vK -50 29.0 75.0|280 216 2v N= &K 110 39.0 65.0
213 265 INO-1 &7 50 380 66.0| 13 69 5¢ S-1 vK -50 29.0 75.0| 12 70 4¢ V-1 vK 100 33.0 71.0
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71 9 2¢ V= v4 -90 340 70.0| 14 68 5¢ S-1 ¢¥K 50 29.0 75.0| 14 68 3#0-1 T 100 33.0 71.0
4 76 34 S-1 ¢A -100 24.0 800| 74 8 3NN-1 v6 -50 29.0 75.0|201 273 4¢ V-1 vK 100 33.0 71.0
5 75 44 S-1 &4 -100 24.0 80.0(102 178 5¢ S-1 vK -50 29.0 75.0|266 208 4¢ V-1 vK 100 33.0 71.0
11 69 3#S-1 4] -100 24.0 80.0|111 169 5¢ S-1 ¢K 50 29.0 75.0| 2 1 3vN-1 &K -100 25.0 79.0
73 7 44 S-1 &5 -100 24.0 80.0(165 115 3NN-1 43 -50 29.0 75.0|105 175 4v N-1 #Q -100 250 79.0
101 177 34 S-1 4 -100 24.0 80.0(203 271 5¢ S-1 ¢K -50 29.0 75.0|177 103 3v N-1 #K -100 25.0 79.0
105 173 2NN-1 T -100 24.0 80.0(210 264 3NN-1 vJ -50 29.0 75.0|215 217 3v N-1 &K -100 25.0 79.0
205 273 44 S-1 &) -100 24.0 80.0(278 275 5¢ S-1 +¢K 50 29.0 75.0| 3 79 3¢ V= vK -110 15.0 89.0
206 272 44 S-1 v3 -100 24.0 80.0(280 216 5¢ S-1 &2 50 29.0 75.0| 11 71 3¢ V= vK -110 15.0 89.0
211 267 44 S-1 +A -100 24.0 80.0| 80 64 3NN-2 ¢J -100  10.0 94.0|104 176 3¢ V= vK -110 15.0 89.0
77 3 2¢ V+1 #Q -110 100 94.0|106 174 3NN-2 *J -100  10.0 94.0|115 165 3¢ V= vK -110 15.0 89.0
111 167 3¢ V= #Q -110 100 94.0|116 164 3NN-2 7 -100  10.0 94.0|211 263 2¢ V+1 ¢K -110 15.0 89.0
179 178 2¢ V+1 #Q -110 10.0 94.0|180 117 3NN-2 v6 -100  10.0 94.0(219 213 3¢ V= vK -110 15.0 89.0
263 215 2¢ V+1 #Q -110 10.0 94.0|204 270 3NN-2 v5 -100  10.0 940| 7 75 4e¢ V= vK -130 5.0 99.0
268 210 3¢ V= vA -110  10.0 94.0(209 265 3NN-2 v6 -100 10.0 94.0|106 174 3¢ V+1 +¥K -130 5.0 99.0
13 67 44 S-2 &5 -200 3.0 101.0 (266 208 BNN-2 v6 -100  10.0 94.0 (173 107 4¢ V= vK -130 5.0 99.0
109 169 34DS-1 vJ -200 3.0 101.0|105 175 3NN-3 *J -150 2.0 102.0 (268 206 3¢ V+1 ¢K -130 5.0 99.0
107 171 5#S-3 & -300 0.0 104.0 (218 214 44 N-4 97 -200 0.0 104.0| 17 65 4vDN-1 &K -200 0.0 104.0
37 4 DKn532 Basta kontrakt 38 & K854 Basta kontrakt 39 4 DKn72 Basta kontrakt
Nord v 1062 6v O =-980 Ost v DKn 34 S =110 Syd v 82 3v V =-140
NS + D52 oV ¢+ EDKn74 Alla + EK3
#96 ¢ v &4 NT »73 & ¢ v & NT #Kn875 & ¢ v & NT
a K4 4 E108 N 3142 4ED96  4Knl07 N9 5457 4 E85 10 N6 3476
v 9875 v EKKn4 S 3142 vE87652 v103 S95457 v 10943 v EKDKn S6 3476
¢+ K7 ¢ E943 O 1110128 10 +5 ¢K108632 O 3 7 8 7 6 ¢ Kn974 ¢ 10652 06 9957
#KKn875 #102 V 1110129 10 *54 &E8 V 37886 #109 & EK42 V69957
» 976 & 32 & K9643
vD3 v K94 v 765
+ Kn1086 +9 +D8
#ED43 #KDKn10962 #D63
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
105 104 6NV -2 43 100 103.0 1.0(215 267 3¢DO-3 #K 800 1040 00| 68 64 44 S= T 620 104.0 0.0
219 263 3NO-2 ¢J 100 103.0 10| 13 71 3NN+1 +2 430 102.0 2.0|107 177 3NO-2 v7 200 101.0 3.0
3 2 4v0-1 49 50 91.0 13.0(213 269 3NN= &7 400 100.0 4.0(206 278 4vDO-1 3 200 101.0 3.0
6 78 4vO-1 ¢J 50 91.0 13.0(110 178 3v V-2 &7 200 96.0 80| 9 77 24 N= vA 110 92.0 12.0
15 69 4v O-1 ¢J 50 91.0 13.0(112 176 3v V-2 &7 200 96.0 8.0(168 116 24 S= ¢4 110 92.0 12.0
64 66 4v O-1 ¢J 50 91.0 13.0(114 174 4v V-2 7 200 96.0 8.0(175 109 24 N= vA 110 92.0 12.0
79 5 4v0O-1 ¢J 50 91.0 13.0(219 263 3#S+2 ¢5 150 92.0 12.0(180 165 24 N= vA 110 92.0 12.0
80 65 4v O-1 +8 50 910 130 3 2 44S= +5 130 82.0 22.0|208 276 24 N= vA 110 92.0 12.0
102 107 3NO-1 +J 50 910 13.0| 64 66 3#S+1 ¢5 130 82.0 22.0(215 269 24 S= vT 110 92.0 12.0
169 165 4v O-1 49 50 910 13.0| 73 11 3#S+1 ¢5 130 82.0 22.0(262 264 24 N= vA 110 92.0 12.0
175 113 4v O-1 +6 50 91.0 13.0(108 101 3« S+1 +5 130 82.0 22.0| 13 73 5¢ V-1 47 100 82.0 22.0
216 266 3NO-1 46 50 91.0 13.0(115 173 44 S= vA 130 82.0 22.0(179 105 3v O-1 &3 100 82.0 22.0
213 269 3v V+1 4Q -170 80.0 24.0(166 168 4# S= ¢9 130 82.0 22.0(277 207 4v O-1 +8 100 82.0 22.0
180 167 3v O+3 ¢J -230  78.0 26.0 (207 275 44 S= vA 130 82.0 22.0| 15 71 1a S= v4 80 77.0 27.0
4 1 3NO= ¢J -400 72.0 32.0(216 266 3#S+1 5 130 82.0 22.0(280 263 14 S= v3 80 77.0 27.0
106 103 3NO= ¢J 400 72.0 32.0(264 218 44 S= ¢5 130 820 220 11 75 INV= ¢ A -90 71.0 33.0
115 173 3NO = ¢J -400 72.0 32.0(116 172 3# S= ¢4 110 70.0 34.0(114 170 1 O+1 &3 90 710 33.0
264 218 3NO= 49 -400 72.0 32.0(170 164 34 S= vA 110 70.0 34.0|167 117 INO= 3 90 71.0 33.0
270 212 3NO= T -400 72.0 32.0(211 271 34 S= vA 110 70.0 34.0|265 219 INO=  #3 -90 71.0 33.0
7 77 4y 0= ¢ -420 51.0 530 6 78 3vV-1 &7 100 61.0 43.0 1 6 24S-1 &T -100 59.0 45.0
10 74 4vy 0= ¢J 420 51.0 53.0| 10 74 4v V-1 +A 100 61.0 43.0| 16 70 24 S-1 &T -100  59.0 45.0
13 71 49 O= #4 -420 51.0 53.0| 14 70 4v V-1 &7 100 61.0 43.0| 65 67 34 S-1 &T -100 59.0 45.0
73 11 4v O= 43 -420 51.0 53.0| 80 65 3vV-1 &7 100 610 43.0| 80 66 24 S-1 &T -100 59.0 45.0
75 9 4v 0= 49 -420 51.0 53.0(175 113 3v V-1 &7 100 61.0 43.0|112 172 24 S-1 &T -100  59.0 45.0
110 178 4v O = ¢J -420 51.0 53.0(280 262 3v V-1 &7 100 61.0 43.0|210 274 24 S-1 vT -100 59.0 45.0
112 176 4v O= ¢J -420 51.0 53.0| 15 69 5#4S-1 ¢5 -50 47.0 57.0|216 268 24 S-1 v4 -100 59.0 45.0
116 172 4v O= +J -420 51.0 530 79 5 5#S-1 45 -50 47.0 57.0|273 211 24 S-1 &T -100  59.0 45.0
117 171 49 O= T -420 51.0 53.0(109 179 3NN-1 &7 -50 47.0 57.0|110 174 1¢ O+2 46 -110 50.0 54.0
204 278 4v O= ¢ -420 51.0 53.0(169 165 5#S-1 YA -50 47.0 57.0|271 213 2¢ O+2 #Q -130 48.0 56.0
207 275 4v O= 49 -420 51.0 53.0(203 279 3#S-1 45 50 470 570| 4 3 3v0= v7 -140 40.0 64.0
208 274 4v O= ¢J -420 51.0 53.0(204 278 3NS-1 v6 50 470 570| 5 2 2v0+1 +Q -140 40.0 64.0
214 268 4y O= ¢J -420  51.0 53.0(214 268 5#S-1 &A 50 470 57.0| 8 78 2vO0+1 44 -140  40.0 64.0
215 267 4v O= ¢J -420 51.0 53.0(276 206 3#S-1 +5 50 47.0 57.0| 74 12 3v O= 43 -140 40.0 64.0
265 217 4v O= ¢J -420 51.0 530 4 1 3NN-2 T -100  29.0 75.0(115 169 3v O= 43 -140 40.0 64.0
272 210 4v O= 43 420 51.0 53.0| 7 77 3NN-2 4] -100 29.0 75.0(209 275 3v O= ¢2 -140  40.0 64.0
109 179 3NO+1 9 -430 31.0 73.0| 12 72 54DS-1 ¢5 -100  29.0 75.0(217 267 3vy O= 43 -140 40.0 64.0
114 174 3NO+1 ¢J -430 31.0 73.0| 67 17 5#4DS-1 45 -100 29.0 75.0| 69 17 INO+2 ¥5 -150 32.0 72.0
205 277 3NO+1 #4 -430 31.0 73.0| 68 16 44S-2 ¢5 -100 29.0 75.0(108 176 2v O+2 &3 -170  29.0 75.0
209 273 3NO+1 46 430 31.0 730| 75 9 54DS-1 vA -100 29.0 75.0(203 202 3v V+1 +A -170  29.0 75.0
8 76 4v O+1 A -450 16.0 88.0 (102 107 54D S-1 45 -100 29.0 750| 7 79 34S-2 T -200  22.0 82.0
12 72 49y O+1 ¢ -450 16.0 88.0 (205 277 54DS-1 ¢5 -100 29.0 75.0| 14 72 3vV+2 +A -200 22.0 820
67 17 4v V+1 &) -450 16.0 88.0(208 274 54D S-1 YA -100 29.0 75.0(103 102 44 S-2 45 -200 22.0 82.0
108 101 4v O+1 &#A -450 16.0 88.0(272 210 54 S-2 YA -100  29.0 75.0(104 101 34 S-2 43 -200  22.0 82.0
166 168 4v O+l +¢6 -450 16.0 88.0 (270 212 2v V= &7 -110 18.0 86.0(164 166 34 N-2 YA -200 22.0 820
177 111 49 O+1 ¢J -450 16.0 88.0(202 201 3v V= &7 -140  14.0 90.0 (204 201 44 N-3 &K -300 16.0 88.0
202 201 4v V+1 49 -450 16.0 88.0 (209 273 3v V= &7 -140 14.0 90.0| 76 10 4v O= +8 -620 9.0 95.0
203 279 4y O+1 -450 16.0 88.0 (265 217 3y V= &7 -140 14.0 90.0 (106 178 4v V= ¢A -620 9.0 95.0
211 271 4v O+1 &4 -450 16.0 88.0|106 103 3NN-3 &J -150 9.0 950113 171 4v O= 43 -620 9.0 95.0
276 206 4y O+1 ¢J -450 16.0 88.0 (180 167 3NN-3 ¢2 -150 9.0 95.0(205 279 4v O= +8 -620 9.0 95.0
280 262 4y V+1 &9 -450 16.0 88.0 (117 171 54DS-2 ¢5 -300 5.0 99.0(212 272 4v O= 43 -620 9.0 95.0
68 16 4v V+2 &) -480 4.0 100.0|177 111 54D S-2 ¢5 -300 5.0 99.0(214 270 4v V= ¢ A -620 9.0 95.0
14 70 4y O+3 ¢ -510 2.0 1020 8 76 3ANO= &T -600 2.0 102.0 ({266 218 3NO+1 46 -630 2.0 102.0
170 164 2¢DS-4 #5 -1100 0.0 104.0 (105 104 44DN-5 T -1100 0.0 104.0 (173 111 4v V+1 +A -650 0.0 104.0
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40 4 K2 Basta kontrakt 41 41063 Basta kontrakt 42 4 Kn1092 Basta kontrakt
Vast v EK62 5¢ N =450 Nord vD103 5NT O =-660 Ost v KKn 4v O =-620
Ingen + KKn107 ov ¢ 764 Alla + KKn974
#K107 & ¢ v & NT #ED72 & ¢ v & NT #Kn6 & ¢ v & NT
« EKn76 4D108 N 9 10119 9 « D7 & KKn852 N3 2422 &D « EK85 N25254
v1085 v93 S 9 10119 9 vE72 v K84 S32422 v ED64 v 9752 S25254
+ D82 49543 032242 ¢ EKDKn32 ¢10 O 10119 1111 + E105 ¢32 O 118 108 9
#Kn83  #E962 V42242 84 #KKn96 vV 10119 1111 #E10732 #K54 V 118 108 9
49543 4 E94 47643
vDKn74 v Kn965 v 1083
¢+ E6 4985 + D86
«D54 #1053 «D98
Par Kontr ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
215 269 4y N+2 ¢3 480 1040 0.0 14 74 5¢ V-1 vQ 100 100.0 4.0( 77 11 3NV-2 ¢4 200 103.0 1.0
15 71 3NN+2 &6 460 1020 20| 17 71 3NO-1 v6 100 100.0 4.0(264 216 4v V-2 &J 200 103.0 1.0
1 6 4¢vN+1 v9 450 69.0 35.0(108 178 44 O-1 ¥5 100 100.0 4.0 8 1 4vV-1 «J 100 90.0 14.0
4 3 4vy N+1 3 450 69.0 35.0|109 177 6NO-1 ¢9 100 100.0 4.0 14 74 4v V-1 &7 100 90.0 14.0
7 79 4v N+1 &A 450 69.0 35.0|214 266 3NO-1 ¥5 100 100.0 40| 70 64 4v V-1 &J 100 90.0 14.0
9 77 4vy N+1 ¢4 450 69.0 35.0|204 276 2¢ V+2 3 -130 94.0 10.0(109 177 4v V-1 «J 100 90.0 14.0
13 73 4v N+1 &A 450 69.0 35.0| 77 11 3¢ V+3 46 -170  91.0 13.0(168 164 4v V-1 4J 100 90.0 14.0
16 70 4v N+1 &A 450 69.0 35.0(174 112 3¢ V+3 7 -170  91.0 13.0 (203 277 4v V-1 #J 100 90.0 14.0
65 67 4vy N+1 &A 450 69.0 35.0 9 79 3NO= v6 -600 79.0 25.0(204 276 3v O-1 &7 100 90.0 14.0
74 12 4v N+1 #A 450 69.0 35.0| 66 68 3NV= v3 -600 79.0 25.0(206 274 3NV-1 «J 100 90.0 14.0
76 10 4v N+1 v9 450 69.0 35.0|168 164 3NO=  v5 -600 79.0 25.0(210 270 4v O-1 &7 100 90.0 14.0
80 66 4v S+1 ¢2 450 69.0 35.0|176 110 3NV = v3 -600 79.0 25.0(213 267 4v O-1 6 100 90.0 14.0
103 102 4v N+1 &A 450 69.0 35.0|180 166 5¢ V= A -600 79.0 25.0(275 205 4v O-1 +6 100 90.0 14.0
106 178 4v S+1 &A 450 69.0 35.0(203 277 3NV = »2 -600 79.0 250 17 71 3#V= aJ -110 76.0 28.0
107 177 4v N+1 v3 450 69.0 35.0(208 272 3NO= v5 -600 79.0 250|116 170 14 O+1 ¢Q -110 76.0 28.0
112 172 49 S+1 &J 450 69.0 35.0|212 268 3NO= v6 -600 79.0 25.0(212 268 2v V= aJ -110 76.0 28.0
115 169 4v N+1 3 450 69.0 35.0|263 217 3NO=  v5 -600 79.0 25.0|107 179 3&V+1 &J -130 71.0 33.0
164 166 4v N+1 &2 450 69.0 35.0(275 205 5¢ V= &A -600 79.0 25.0(169 117 34V +1l &J -130 71.0 33.0
168 116 44 N+1 5 450 69.0 350( 10 78 3NO+1 v5 -630 62.0 42.0 9 79 2y V+1 & -140 63.0 41.0
173 111 4v N+1 &8 450 69.0 35.0| 70 64 3NV+1l 3 -630 62.0 420| 80 67 3v V= aJ -140 63.0 41.0
175 109 4v N+1 9 450 69.0 35.0| 80 67 3NV+1l 3 -630 62.0 42.0(113 173 2v V+1 &) -140 63.0 41.0
180 165 4v N+1 &A 450 69.0 35.0|105 102 3NV +1 3 -630 62.0 42.0|114 172 2v O+1 ¢Q -140 63.0 41.0
204 201 4y N+1 &2 450 69.0 35.0(113 173 3NO+1 v5 -630 62.0 42.0|165 167 3v V= +9 -140 63.0 41.0
206 278 4v N+1 &A 450 69.0 35.0(115 171 3NO+1 v6 -630 62.0 42.0(180 166 3v V= +9 -140 63.0 41.0
208 276 4y N+1 &A 450 69.0 35.0|116 170 3NO+1 5 -630 62.0 420| 16 72 INV+2 &J -150 56.0 48.0
209 275 4v S+1 &A 450 69.0 350| 16 72 54 O= &4 -650 52.0 52.0 2 7 290+2 46 -170 47.0 57.0
210 274 4v N+1 &A 450 69.0 35.0(111 175 44 O+1 v6 -650 52.0 520| 10 78 2vO+2 ¢Q -170 470 57.0
212 272 4v N+1 &2 450 69.0 35.0|271 209 44 O+1 v5 -650 52.0 52.0(111 175 2v V+2 ¢4 -170  47.0 57.0
216 268 4y N+1 &8 450 69.0 35.0 5 4 3NO+2 &T -660 36.0 68.0(176 110 2v O+2 ¥3 -170 47.0 57.0
262 264 4v S+1 &J 450 69.0 35.0 6 3 3NO+2 v6 -660 36.0 68.0(202 278 3v O+1 &8 -170  47.0 57.0
265 219 4y N+1 9 450 69.0 35.0| 15 73 3NV +2 &A -660 36.0 68.0 (207 273 2v V+2 &) -170  47.0 57.0
271 213 4y N+1 3 450 69.0 35.0(101 106 3NO+2 +¢9 -660 36.0 68.0(215 265 3v V+1 & -170 47.0 57.0
273 211 4v N+1 48 450 69.0 35.0|104 103 3NO+2 +¢9 -660 36.0 68.0(218 262 2v V+2 &) -170 47.0 57.0
280 263 4y N+1 &2 450 69.0 35.0|201 279 3NO+2 5 -660 36.0 68.0(208 272 34 N-3 &A -300 37.0 67.0
11 75 3NN+1 ¢4 430 340 70.0|202 278 BNO+2 ¥6 -660 36.0 68.0 (269 211 24 S-3 &2 -300 37.0 67.0
69 17 3NN+1 v9 430 34.0 70.0(207 273 3NO+2 5 -660 36.0 68.0 105 102 3NV = *7 -600 33.0 71.0
179 105 SNN+1 &A 430 34.0 70.0(213 267 3NV +2 &2 -660 36.0 68.0(115 171 3NV = aJ -600 33.0 71.0
5 2 4vyN= &6 420 18.0 86.0|215 265 3NO+2 v6 -660 36.0 68.0 5 4 490= +Q -620 19.0 85.0
8 78 4v N= &A 420 18.0 86.0(218 262 3NV +2 &7 -660 36.0 68.0| 12 76 4vy O= ¢6 -620 19.0 85.0
14 72 4vy N= ¢3 420 18.0 86.0|264 216 4NO+1 &T -660 36.0 68.0| 15 73 4vO= ¥3 -620 19.0 85.0
68 64 4v S= T 420 18.0 86.0(269 211 3NO+2 5 -660 36.0 68.0| 66 68 4v O= ¢6 -620 19.0 85.0
104 101 4v S= v3 420 18.0 86.0|165 167 44 O+2 v6 -680 220 82.0| 69 65 4v O= 46 -620 19.0 85.0
113 171 4v N= ¢4 420 18.0 86.0 2 7 3NV+3 43 -690 11.0 93.0| 75 13 4v V= aJ -620 19.0 85.0
114 170 4v S= a7 420 180 86.0| 12 76 3NV+3 3 -690 11.0 93.0(108 178 4v O= ¢5 -620 19.0 85.0
167 117 4% S= v8 420 18.0 86.0| 69 65 3NV+3 7 -690 11.0 93.0(174 112 4v V= aJ -620 19.0 85.0
203 202 4v N= 48 420 18.0 86.0| 75 13 3NV +3 43 -690 11.0 93.0 (214 266 4v V= 49 -620 19.0 85.0
205 279 4vy N= ¢4 420 18.0 86.0(107 179 3NO+3 +¢9 -690 11.0 93.0 (263 217 4v O= ¢6 -620 19.0 85.0
214 270 4vy N= ¢3 420 18.0 86.0(114 172 3NO+3 v6 -690 11.0 93.0 (271 209 4v O= 43 -620 19.0 85.0
217 267 4vy N= v6 420 18.0 86.0|169 117 3NO+3 +¢9 -690 11.0 93.0(280 219 4vO= ¢Q -620 19.0 85.0
277 207 4v N= &A 420 18.0 86.0|206 274 3NO+3 v4 -690 11.0 93.0(101 106 4v O+1 ¥3 -650 4.0 100.0
108 176 2v N+3 9 200 4.0 100.0 (210 270 3NV +3 &2 -690 11.0 93.0 ({104 103 4v V+1 &) -650 4.0 100.0
110 174 2v N+1 3 140 1.0 103.0 (280 219 3NO+3 5 -690 11.0 93.0(201 279 4v O+1 +6 -650 4.0 100.0
266 218 2vy N+1 ¢A 140 1.0 103.0 8 1 6NO= 5 -1440 0.0 104.0 6 3 3NV+3 & -690 0.0 104.0
43 « KDKn1082 Bésta kontrakt 44 4 ED4 Bésta kontrakt 45 a4 Bésta kontrakt
Syd v 107 64 V D -2 300 Vast v ED65 5NT N =660 Nord v KD1096 54 V =-650
Ingen + 1075 NS + Kn4 Alla 4863
#52 & ¢ v & NT #E1096 & ¢ v o NT #E764 & ¢ v & NT
&« E95 764 N 3 118 8 5 4632 85 N 10117 1111 4 ED852 & KKn76 N6 4523
vKn943 vES8 S 3 118 8 5 vKn9842 vK1073 S 10117 1111 vE8 vKn754 S6 4523
+3 ¢ Kn8 O 102 4 4 6 ¢10975 ¢E2 032612 ¢E975 ¢KD 07 9 7 1010
#KD964 #EKn10873 V 102 3 4 6 *7 #DKn842 V32612 #K10 #985 V79 8 1110
43 & KKn1097 41093
v KD652 v- v 32
+ EKD9642 + KD863 + Kn1042
»- #K53 #DKn32
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
212 276 6¢DS= A 1090 1040 0.0(164 176 64 N= 48 1430 103.0 10| 12 1 44V-1 &4 100 103.0 1.0
112 103 64 S= &K 920 102.0 2.0(217 271 64 N= +2 1430 103.0 1.0(215 275 44 V-1 K 100 103.0 1.0
111 104 74DV -4 ¢5 800 100.0 4.0 3 8 3NN+3 #Q 690 940 10.0| 14 78 24 V+2 vK -170  96.0 8.0
16 74 44 N+1 &A 450 980 60| 10 1 3NN+3 ¥3 690 94.0 10.0 (106 105 24 V+2 vK -170  96.0 8.0
3 8 5¢S+1 &K 420 89.0 15.0 (105 110 3NN+3 #4 690 94.0 10.0 (111 179 24 V+2 vK -170  96.0 8.0
9 2 44 N= ¢J 420 89.0 15.0(178 116 3NN+3 #4 690 94.0 10.0(117 173 24 V+2 vQ -170 96.0 8.0
64 72 5¢ S+1 &K 420 89.0 15.0 (206 203 3NN+3 #4 690 94.0 10.0 (209 202 34 V+1 vK -170  96.0 8.0
105 110 44 N= &A 420 89.0 15.0(208 201 3NN+3 ¥3 690 94.0 10.0 7 6 44 V= vK -620 65.0 39.0
109 106 5¢ S+1 &K 420 89.0 15.0(275 213 3NN+3 #2 690 940 100 16 76 44 V= vK -620 65.0 39.0
164 176 5¢ S+1 &K 420 89.0 15.0 6 5 44 N+2 ¢A 680 68.0 36.0| 17 75 44 V= vK -620 65.0 39.0
165 175 5¢ S+1 &K 420 89.0 15.0 7 4 464 N+2 &8 680 68.0 36.0| 64 74 44 V= a4 -620 65.0 39.0
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180 170 5¢ S+1 &A 420 89.0 15.0| 13 77 44 N+2 &2 680 68.0 36.0| 68 70 44 V= vK -620 65.0 39.0
6 5 5¢S= &K 400 59.0 45.0| 64 72 44 N+2 ¢A 680 68.0 36.0| 72 66 44 V= vK -620 65.0 39.0
10 1 5¢ S= &K 400 59.0 45.0| 76 14 44 N+2 ¢A 680 68.0 36.0( 80 69 44 V= vK -620 650 390
11 79 5¢ S= &K 400 59.0 45.0|101 114 44 N+2 ¢A 680 68.0 36.0(103 108 44 V= vK -620 65.0 39.0
13 77 5¢ S= «K 400 59.0 45.0(115 179 44 S+2 #7 680 68.0 36.0 (107 104 44 O= ¢ -620 65.0 39.0
15 75 5¢ S= &K 400 59.0 45.0(117 177 44 S+2 &7 680 68.0 36.0(109 102 44 V= v3 -620 65.0 39.0
17 73 5¢ S= #4 400 59.0 45.0|173 167 44 S+2 ¢A 680 68.0 36.0(110 101 44 V= vK -620 65.0 39.0
67 69 5¢ S= &K 400 59.0 45.0(180 170 54 N+1 ¢A 680 68.0 36.0(115 175 44 V= vK -620 65.0 39.0
76 14 5¢ S= &K 400 59.0 45.0(205 204 44 N+2 ¢A 680 68.0 36.0(116 174 44 V= vK -620 65.0 39.0
78 12 5¢ S= &K 400 59.0 45.0|207 202 44 N+2 ¢A 680 68.0 36.0(164 172 44 O= +v3 -620 65.0 39.0
108 107 5¢ S= #K 400 59.0 45.0(212 276 44 N+2 ¢A 680 68.0 36.0(167 169 44 V= v9 -620 65.0 39.0
115 179 5¢ S= &4 400 59.0 45.0(214 274 44 N+2 ¢A 680 68.0 36.0(170 166 44 V= vK -620 65.0 39.0
169 171 5¢ S= &K 400 59.0 45.0|218 270 44 S+2 #7 680 68.0 36.0(176 114 44 V= vK -620 65.0 39.0
173 167 5¢ S= #4 400 59.0 45.0(264 266 44 N+2 #2 680 68.0 36.0(178 112 44 V= 46 -620 65.0 39.0
178 116 5¢ S= &K 400 59.0 45.0(267 263 44 N+2 ¢A 680 68.0 36.0(201 210 44 V= vK -620 65.0 39.0
207 202 5¢ S= &K 400 59.0 45.0|273 215 44 S+2 #7 680 68.0 36.0(206 205 44 V= vK -620 65.0 39.0
210 278 5¢ S= &K 400 59.0 45.0(280 265 44 N+2 ¢A 680 68.0 36.0(207 204 44 V= vK -620 65.0 39.0
216 272 5¢ S= #4400 59.0 45.0| 67 69 3NN+2 v7 660 46.0 58.0|208 203 44 V= &A -620 65.0 39.0
264 266 5¢ S= &K 400 59.0 45.0|216 272 3NN+2 #2 660 46.0 58.0|212 278 44 V= vK -620 65.0 39.0
267 263 5¢ S= #9 400 59.0 45.0(279 209 3NN+2 #2 660 46.0 58.0|268 264 44 V= vK -620 65.0 39.0
273 215 5¢ S=  «K 400 59.0 450 9 2 44 S+1 &7 650 31.0 73.0|269 263 44 V= &4 -620 65.0 39.0
275 213 5¢ S= aA 400 59.0 45.0| 15 75 44 N+1 ¢A 650 31.0 73.0|280 266 44 V= vK -620 65.0 39.0
279 209 5¢ S= &K 400 59.0 45.0| 17 73 44 S+1 &7 650 31.0 73.0|262 270 3NV+1 K -630 38.0 66.0
101 114 4¢ S+1 &K 150 350 69.0| 70 66 44 N+1 ¢A 650 310 730| 4 9 4eV+1l K -650 19.0 85.0
219 269 4¢ S+1 #6 150 350 69.0|108 107 44 S+1 ¢A 650 31.0 730 8 5 4e4V+l ¥¢K -650 19.0 85.0
211 277 4¢ S= &K 130 32.0 72.0(109 106 44 N+1 7 650 31.0 73.0| 10 3 4eV+1l vK -650 19.0 85.0
70 66 3¢ S= &4 110 30.0 74.0|112 103 54 S= &7 650 310 73.0| 11 2 44 0+1 ¥2 -650 19.0 85.0
71 65 5#V-2 &K 100 27.0 77.0|113 102 44 S+1 7 650 31.0 73.0| 65 73 44 V+l vK -650 19.0 85.0
80 68 5#V-2 T 100 27.0 77.0|166 174 44 S+1 #6 650 31.0 73.0| 71 67 44 V+1 v6 -650 19.0 85.0
117 177 6¢ S-1  #K -50 19.0 85.0|172 168 44 N+1 48 650 31.0 73.0| 77 15 44 V+1l vK -650 19.0 85.0
166 174 5¢ S-1 #K -50 19.0 85.0(211 277 44 N+1 ¢A 650 31.0 73.0| 79 13 44 V+l ¢K -650 19.0 85.0
205 204 5¢ S-1 %K -50 19.0 85.0|268 262 44 S+1 #7 650 31.0 73.0(113 177 44 V+1 vK -650 19.0 85.0
206 203 44 N-1 vA -50 19.0 850| 71 65 44 N= ¢A 620 15.0 89.0(171 165 44 V+1 vK -650 19.0 85.0
208 201 6¢ S-1 #K -50 19.0 85.0|111 104 44 N= #J 620 150 89.0(180 168 44 V+1 vK -650 19.0 85.0
218 270 6¢ S-1 #Q -50 19.0 85.0|165 175 44 N= &5 620 15.0 89.0(211 279 44 V+1 vK -650 19.0 85.0
113 102 6¢DS-1 #K  -100 9.0 95.0(219 269 44 N= ¢3 620 15.0 89.0(213 277 44 V+1 vK -650 19.0 85.0
214 274 5¢ S-2 &K  -100 9.0 950 11 79 34 S+3 &7 230 10.0 94.0 (217 273 44 V+1 vK -650 19.0 85.0
217 271 7¢DS-1 #K  -100 9.0 950(210 278 3#S= 2 110 8.0 96.0(218 272 44 V+1 vK -650 19.0 85.0
268 262 5¢ S-2 «K  -100 90 950 78 12 2vyDO-1 «K 100 6.0 98.0(219 271 44 V+1 vK -650 19.0 850
7 4 4vS-3 «K -150 3.0 101.0| 16 74 64 S-1 &7 -100 2.0 102.0 (274 216 44 V+1 vK -650 19.0 85.0
280 265 3v S-3 %6 -150 3.0 101.0| 80 68 64 S-1 &7 -100 2.0 102.0 (276 214 54 V= vK -650 19.0 85.0
172 168 3v S-4 #K  -200 0.0 104.0 (169 171 64 N-1 46 -100 2.0 102.0 |265 267 44 V+2 vK  -680 0.0 104.0
46 s E2 Basta kontrakt 47 4 EDKn6532 Basta kontrakt 48 4 KD98765 Basta kontrakt
Ost v 642 44 O =-420 Syd v 7643 54 S =650 Vast vE2 6NT N =990
Ingen ¢ E8763 NS +6 ov ¢ KKn3
#DKn2 & ¢ v & NT *K & ¢ v & NT *E & ¢ v & NT
4 DKn943 4K876 N7 8223 a- 4974 N5 75 118 21042 &Kn N 108 7 1212
vE9873  vKDKn S78223 v K1052 v EDKn8 S585 118 vKD74 98653 S 108 7 1212
¢D + K109 O5 5 10107 ¢ E54 +D1083 085824 ¢ 1075 ¢ D642 023511
*73 #E108 vV 55 10107 #D109874 #53 V85824 #832  #KD9 V22511
+ 105 4 K108 4E3
v 105 v9 vKnl0
¢ Kn542 ¢ KKn972 ¢ E98
#K9654 #EKNn62 #Kn107654
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
113 177 64D O -2 #4 300 1040 00| 1 14 44 N+2 &5 680 99.0 50| 15 79 64 N= #K 980 98.0 6.0
7 6 2NO+1 &2 -150 1020 20| 15 79 44 N+2 &5 680 99.0 50| 17 77 64 N= ¢33 980 98.0 6.0
71 67 3NO= &4 -400 100.0 4.0 17 77 44 N+2 &2 680 99.0 5.0|116 176 64 N= #K 980 98.0 6.0
14 78 44 O= &5 -420 84.0 20.0| 69 71 44 N+2 vA 680 99.0 5.0/|164 174 64 N= #K 980 98.0 6.0
68 70 44 O= ¢J -420 840 20.0(206 201 44 N+2 vA 680 99.0 5.0|168 170 64 N= «K 980 98.0 6.0
80 69 44 O= oT -420 84.0 20.0 (210 276 44 N+2 vJ 680 99.0 5.0|171 167 64 N= #Q 980 98.0 6.0
103 108 44 O= ¢4 -420 84.0 20.0| 64 76 44 N+1 &5 650 80.0 24.0|217 269 64 N= ¢4 980 98.0 6.0
106 105 44 O= ¢4 -420 840 200 73 67 44 N+1 v8 650 80.0 24.0| 64 76 44 N+2 ¢4 480 80.0 24.0
107 104 44 O= &5 -420 84.0 20.0 (104 109 44 S+1 v2 650 80.0 24.0| 65 75 44 N+2 ¥3 480 80.0 24.0
109 102 44 O= vT -420 84.0 20.0(116 176 44 N+1 &5 650 80.0 24.0|107 106 44 N+2 ¢3 480 80.0 24.0
110 101 44 O= 6 -420 840 200|164 174 44 N+1 #3 650 80.0 24.0(108 105 44 N+2 2 480 80.0 24.0
117 173 44 O= vT -420 84.0 20.0(171 167 44 N+1 vA 650 80.0 24.0|165 173 44 N+2 ¢4 480 80.0 24.0
167 169 44 O= 6 -420 84.0 20.0(172 166 44 N+1 &5 650 80.0 24.0|204 203 44 N+2 ¢4 480 80.0 24.0
170 166 44 O= #4 -420 84.0 20.0(209 277 44 N+1 &5 650 80.0 24.0(205 202 44 N+2 3 480 80.0 24.0
206 205 4v O= ¢2 -420 840 200|211 275 44 N+1 vA 650 80.0 24.0|209 277 44 N+2 +2 480 80.0 24.0
218 272 44 O= &4 -420 84.0 20.0 (217 269 44 N+1 #3 650 80.0 24.0|210 276 44 N+2 +2 480 80.0 24.0
265 267 44 O= &5 -420 84.0 20.0 (266 262 54 N= &5 650 80.0 24.0|213 273 44 N+2 +2 480 80.0 24.0
269 263 44 O= &6 -420 84.0 20.0 (267 219 44 N+1 &5 650 80.0 24.0|272 214 44 N+2 &#K 480 80.0 24.0
4 9 54 0= ¢5 -450 35.0 69.0 (278 208 44 N+1 vA 650 80.0 240| 5 10 44 N+1 T 450 46.0 58.0
8 5 44 0+1 92 -450 35.0 69.0( 8 7 44 N= &7 620 55,0 49.0| 8 7 44 N+1 v9 450 46.0 58.0
10 3 44 O+1 ¢J -450 350 690 66 74 44 N= &5 620 55.0 49.0| 183 2 44 N+1 v9 450 46.0 58.0
12 1 44 O+1 T -450 35.0 69.0( 78 16 44 N= &5 620 55.0 49.0| 69 71 44 N+1 &K 450 46.0 58.0
16 76 44 O+1 &6 -450 35.0 69.0( 80 70 44 N= &5 620 55.0 49.0| 72 68 44 N+1 &K 450 46.0 58.0
17 75 44 O+1 T -450 35.0 69.0 (111 102 44 N= &5 620 55.0 49.0| 73 67 44 N+1 #K 450 46.0 58.0
64 74 44 O+1 ¥T -450 350 69.0(168 170 44 N= #3 620 55,0 49.0| 78 16 44 N+1 ¥3 450 46.0 58.0
65 73 44 O+1 T -450 350 69.0(177 115 44 N= &5 620 55.0 49.0|104 109 44 S+1 vK 450 46.0 58.0
72 66 44 V+1 ¢A  -450 35.0 69.0(179 113 44 N= &5 620 55.0 49.0(110 103 44 N+1 ¥3 450 46.0 58.0
77 15 44 O+1 oT -450 350 69.0(215 271 44 N= #3 620 55.0 49.0 (111 102 44 N+1 &K 450 46.0 58.0
79 13 44 O+1 T -450 350 69.0(216 270 44 N= &5 620 55.0 49.0|112 101 44 N+1 v9 450 46.0 58.0
111 179 44 O+1 ¢4 -450 350 69.0(263 265 44 N= &5 620 55.0 49.0(114 178 44 N+1 v9 450 46.0 58.0
115 175 44 O+1 T -450 35.0 69.0 (272 214 44 N= 48 620 55.0 49.0(172 166 44 N+1 &K 450 46.0 58.0
116 174 44 O+1 &5 -450 35.0 69.0 (112 101 24 N+3 &5 200 41.0 63.0(179 113 44 N+1 &K 450 46.0 58.0
164 172 44 O+1 T -450 350 69.0(280 264 24 N+3 vA 200 41.0 63.0|180 169 44 N+1 v9 450 46.0 58.0
171 165 44 O+1 &5 -450 350 69.0(274 212 34 N+1 &5 170 38.0 66.0|206 201 44 N+1 &J 450 46.0 58.0
176 114 44 O+1 oT -450 35.0 69.0 (110 103 34 N= &5 140 340 70.0|211 275 44 N+1 #9 450 46.0 58.0
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178 112 44 O+1 T -450 35.0 69.0(207 279 2v N+1 &5 140 34.0 70.0(215 271 44 N+1 &K 450 46.0 58.0
180 168 44 O+1 5 -450 35.0 69.0(213 273 34 N= &5 140 34.0 70.0|218 268 44 N+1 v9 450 46.0 58.0
201 210 44 O+1 ¢2 -450 35.0 69.0(114 178 54 O0-2 «A 100 30.0 74.0(266 262 44 N+1 v9 450 46.0 58.0
207 204 54 O= vT -450 35.0 69.0 5 10 44 N-1 &5 -100 18.0 86.0 (274 212 44 N+1 3 450 46.0 58.0
208 203 44 O+1 2 -450 35.0 69.0 9 6 44 N-1 &4 -100 18.0 86.0|278 208 44 N+1 &J 450 46.0 58.0
209 202 4y O+1 +4 -450 350 69.0| 13 2 44 N-1 &5 -100 18.0 86.0(280 264 44 N+1 &K 450 46.0 58.0
211 279 44 O+1 T -450 35.0 69.0| 72 68 54 N-1 &5 -100 18.0 86.0| 11 4 34 N+3 ¢4 230 22.0 82.0
212 278 4v O+1 &T -450 35.0 69.0|107 106 44 N-1 &5 -100 18.0 86.0|263 265 34 N+2 &J 200 20.0 84.0
213 277 4v V+1 &A -450 35.0 69.0(108 105 44 N-1 YA -100 18.0 86.0 9 6 6NS-1 ¢K -50 12.0 92.0
215 275 44 O+1 ¢4 -450 35.0 69.0(165 173 44 N-1 &5 -100 18.0 86.0| 12 3 64 N-1 &K -50 12.0 92.0
217 273 44 O+1 T -450 35.0 69.0|180 169 44 N-1 &5 -100 18.0 86.0| 66 74 64 N-1 *9 -50 12.0 92.0
219 271 44 O+1 T -450 35.0 69.0 (204 203 54 N-1 YA -100 18.0 86.0 (117 175 6NS-1 &7 -50 12.0 92.0
262 270 44 O+1 T -450 35.0 69.0 (205 202 54 N-1 vA -100 18.0 86.0|177 115 64 N-1 &J -50 12.0 92.0
268 264 44 O+1 ¢4 -450 35.0 69.0|218 268 44 N-1 &5 -100 18.0 86.0|207 279 64 N-1 *3 -50 12.0 92.0
274 216 44 O+1 T -450 350 690| 12 3 24DV= 46 -180 6.0 98.0(267 219 64 N-1 &) -50 12.0 92.0
276 214 4v O+1 oT -450 35.0 69.0| 65 75 54 N-2 &5 -200 3.0 101.0 1 14 74 N-2 ¥9 -100 3.0 101.0
280 266 44 O+1 T -450 35.0 69.0|117 175 54 N-2 &5 -200 3.0 101.0| 80 70 74a N-2 +Q -100 3.0 101.0
11 2 44 V+2 43 -480 0.0 1040| 11 4 54DN-2 #3 -500 0.0 104.0 (216 270 74 N-3 +8 -150 0.0 104.0
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